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Chapter 1
Why Study Money, Banking, and Financial Markets?

10.

11.

12.

13.

14.

15.

The data in Figures 1, 2, 3, and 4 suggest that real output, the inflation rate, and interest rates would
all fail.

You might be more likely to buy a house or a car because the cost of financing them would fall, or
you might be less likely to save because you earn less on your savings.

No. It is true that people who borrow to purchase a house or a car are worse off because it costs them
more to finance their purchase; however, savers benefit because they can earn higher interest rates on
their savings.

The basic activity of banks is to accept deposits and make loans.

They channel funds from people who do not have a productive use for them to people who do,
thereby resulting in higher economic efficiency.

The interest rate on three-month Treasury bills fluctuates more than the other interest rates and is
lower on average. The interest rate on Baa corporate bonds is higher on average than the other
interest rates.

The lower price for a firm’s shares means that it can raise a smaller amount of funds, so investment in
facilities and equipment will fall.

Higher stock prices means that consumers’ wealth is higher, and they will be more likely to increase
their spending.

It makes foreign goods more expensive, so British consumers will buy fewer foreign goods and more
domestic goods.

It makes British goods more expensive relative to American goods. Thus American businesses will
find it easier to sell their goods in the United States and abroad, and the demand for their products
will rise.

In the mid- to late 1970s and in the late 1980s and early 1990s, the value of the dollar was low,
making travel abroad relatively more expensive; thus it was a good time to vacation in the United
States and see the Grand Canyon. With the rise in the dollar’s value in the early 1980s, travel abroad
became relatively cheaper, making it a good time to visit the Tower of London.

When the dollar increases in value, foreign goods become less expensive relative to American goods;
thus you are more likely to buy French-made jeans than American-made jeans. The resulting drop in
demand for American-made jeans because of the strong dollar hurts American jeans manufacturers.
On the other hand, the American company that imports jeans into the United States now finds that the
demand for its product has risen, so it is better off when the dollar is strong.
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Chapter 2

An Overview of the Financial System

10.

11.

The share of Microsoft stock is an asset for its owner, because it entitles the owner to a share of the
earnings and assets of Microsoft. The share is a liability for Microsoft, because it is a claim on its
earnings and assets by the owner of the share.

Yes, I should take out the loan, because I will be better off as a result of doing so. My interest
payment will be $4,500 (90% of $5,000), but as a result, I will earn an additional $10,000, so I will
be ahead of the game by $5,500. Since Larry’s loan-sharking business can make some people better
off, as in this example, loan sharking may have social benefits. (One argument against legalizing loan
sharking, however, is that it is frequently a violent activity.)

Yes, because the absence of financial markets means that funds cannot be channeled to people who
have the most productive use for them. Entrepreneurs then cannot acquire funds to set up businesses
that would help the economy grow rapidly.

The principal debt instruments used were foreign bonds which were sold in Britain and denominated
in pounds. The British gained because they were able to earn higher interest rates as a result of
lending to Americans, while the Americans gained because they now had access to capital to start up
profitable businesses such as railroads.

This statement is false. Prices in secondary markets determine the prices that firms issuing securities
receive in primary markets. In addition, secondary markets make securities more liquid and thus
easier to sell in the primary markets. Therefore, secondary markets are, if anything, more important
than primary markets.

You would rather hold bonds, because bondholders are paid off before equity holders, who are the
residual claimants.

Because you know your family member better than a stranger, you know more about the borrower’s
honesty, propensity for risk taking, and other traits. There is less asymmetric information than with a
stranger and less likelihood of an adverse selection problem, with the result that you are more likely
to lend to the family member.

Loan sharks can threaten their borrowers with bodily harm if borrowers take actions that might
jeopardize their paying off the loan. Hence borrowers from a loan shark are less likely to increase
moral hazard.

They might not work hard enough while you are not looking or may steal or commit fraud.
Yes, because even if you know that a borrower is taking actions that might jeopardize paying off the

loan, you must still stop the borrower from doing so. Because that may be costly, you may not spend
the time and effort to reduce moral hazard, and so the problem of moral hazard still exists.
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12.

13.

14.

15.

True. If there are no information or transactions costs, people could make loans to each other at no
cost and would thus have no need for financial intermediaries.

Because the costs of making the loan to your neighbor are high (legal fees, fees for a credit check,
and so on), you will probably not be able earn 5% on the loan after your expenses even though it has
a 10% interest rate. You are better off depositing your savings with a financial intermediary and
earning 5% interest. In addition, you are likely to bear less risk by depositing your savings at the bank
rather than lending them to your neighbor.

A ranking from most liquid to least liquid is (a), (b), (c), and (d). The ranking is similar for the most
safe to the least safe.

Increased discussion of foreign financial markets in the U.S. press and the growth in markets for
international financial instruments such as Eurodollars and Eurobonds.
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Chapter 3
What Is Money?

10.

(b)

Because the orchard owner likes only bananas but the banana grower doesn’t like apples, the banana
grower will not want apples in exchange for his bananas, and they will not trade. Similarly, the
chocolatier will not be willing to trade with the banana grower because she does not like bananas.
The orchard owner will not trade with the chocolatier because he doesn’t like chocolate. Hence, in a
barter economy, trade among these three people may well not take place, because in no case is there a
double coincidence of wants. However, if money is introduced into the economy, the orchard owner
can sell his apples to the chocolatier and then use the money to buy bananas from the banana grower.
Similarly, the banana grower can use the money she receives from the orchard owner to buy chocolate
from the chocolatier, and the chocolatier can use the money to buy apples from the orchard owner.
The result is that the need for a double coincidence of wants is eliminated, and everyone is better off
because all three producers are now able to eat what they like best.

Cavemen did not need money. In their primitive economy, they did not specialize in producing one
type of good and they had little need to trade with other cavemen.

Because a check was so much easier to transport than gold, people would frequently rather be paid by
check even if there was a possibility that the check might bounce. In other words, the lower transactions
costs involved in handling checks made people more willing to accept them.

Wine is more difficult to transport than gold and is also more perishable. Gold is thus a better store of
value than wine and also leads to lower transactions cost. It is therefore a better candidate for use as
money.

Because money was losing value at a slower rate (the inflation rate was lower) in the 1950s than in
the 1970s, it was then a better store of value, and you would have been willing to hold more of it.

Not necessarily. Checks have the advantage in that they provide you with receipts, are easier to keep
track of, and may make it harder for someone to steal money out of your account. These advantages
of checks may explain why the movement toward a checkless society has been very gradual.

The ranking from most liquid to least liquid is: (a), (¢), (e), (f), (b), and (d).

Money loses its value at an extremely rapid rate in hyperinflation, so you want to hold it for as short a
time as possible. Thus money is like a hot potato that is quickly passed from one person to another.

Because of the rapid inflation in Brazil, the domestic currency, the real, is a poor store of value. Thus
many people would rather hold dollars, which are a better store of value, and use them in their daily
shopping.
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11.

13.

14.

15.

Not necessarily. Although the total amount of debt has predicted inflation and the business cycle
better than M1 or M2, it may not be a better predictor in the future. Without some theoretical reason
for believing that the total amount of debt will continue to predict well in the future, we may not want
to define money as the total amount of debt.

M1 contains the most liquid assets. M2 is the largest measure.
(a) M1 and M2, (b) M2, (c) M2, (d) M1 and M2.
Revisions are not a serious problem for long-run movements of the money supply, because revisions

for short-run (one-month) movements tend to cancel out. Revisions for long-run movements, such as
one-year growth rates, are thus typically quite small.
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Chapter 4

Understanding Interest Rates

10.

11.

12.

Less. It would be worth 1/(1 + 0.20) = $0.83 when the interest rate is 20%, rather than 1/(1 + 0.10) =
$0.91 when the interest rate is 10%.

No, because the present discounted value of these payments is necessarily less than $10 million as
long as the interest rate is greater than zero.

$1,000/(1 +0.10) + $1,210/(1 + 0.10)° + $1,331/(1 + 0.10)’ = $3,000

The yield to maturity is less than 10 percent. Only if the interest rate was less than 10 percent would
the present value of the payments add up to $4,000, which is more than the $3,000 present value in
the previous problem.

$2,000 + $100/(1 + i) + $100/(1 + i) + . . . + $100/(1 + i)™ + $1,000/(1 + i)™.
25% = ($1,000 — $800)/$800 = $200/$800 = 0.25.

14.9%, derived as follows: The present value of the $2 million payment five years from now is
$2/(1 + iy’ million, which equals the $1 million loan. Thus 1 = 2/(1 + iy, Solving for i, (1 + i)’ =2,
so that i =32 -1=0.149 =14.9%.

If the interest rate were 12 percent, the present discounted value of the payments on the government
loan are necessarily less than the $1,000 loan amount because they do not start for two years. Thus
the yield to maturity must be lower than 12 percent in order for the present discounted value of these
payments to add up to $1,000.

If the one-year bond did not have a coupon payment, its yield to maturity would be ($1,000 — $800)/
$800 — $200/$800 = 0.25 = 25%. Because it does have a coupon payment, its yield to maturity must
be greater than 25%. However, because the current yield is a good approximation of the yield to
maturity for a twenty-year bond, we know that the yield to maturity on this bond is approximately
15%. Therefore, the one-year bond has a higher yield to maturity.

The current yield will be a good approximation to the yield to maturity whenever the bond price is
very close to par or when the maturity of the bond is over ten years.

You would rather own the Treasury bill, because it has a higher yield to maturity. As the example in
the text indicates, the discount yield’s understatement of the yield to maturity for a one-year bill is
substantial, exceeding one percentage point. Thus the yield to maturity on the one-year bill would be
greater than 9%, the yield to maturity on the one-year Treasury bond.

You would rather be holding long-term bonds because their price would increase more than the price
of the short-term bonds, giving them a higher return.



Part Three: Answers to End-of-Chapter Problems 61

13.

14.

15.

No. If interest rates rise sharply in the future, long-term bonds may suffer such a sharp fall in price
that their return might be quite low—possibly even negative.

People are more likely to buy houses because the real interest rate when purchasing a house has fallen
from 3 percent (= 5 percent — 2 percent) to 1 percent (= 10 percent — 9 percent). The real cost of
financing the house is thus lower, even though mortgage rates have risen. (If the tax deductibility of
interest payments is allowed for, then it becomes even more likely that people will buy houses.)

The economists are right. They reason that nominal interest rates were below expected rates of
inflation in the late 1970s, making real interest rates negative. The expected inflation rate, however,
fell much faster than nominal interest rates in the mid-1980s, so nominal interest rates were above the
expected inflation rate and real rates became positive.
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Chapter 5

The Behavior of Interest Rates

1. (a) Less, because your wealth has declined; (b) more, because its relative expected return has risen;
(c) less, because it has become less liquid relative to bonds; (d) less, because its expected return has
fallen relative to gold; (e) more, because it has become less risky relative to bonds.

2. (a) More, because your wealth has increased; (b) more, because the house has become more liquid;
(c) less, because its expected return has fallen relative to Microsoft stock; (d) more, because it has
become less risky relative to stocks; (e) less, because its expected return has fallen.

3. (a) More, because it has become more liquid; (b) less, because it has become more risky; (c) more,
because its expected return has risen; (d) more, because its expected return has risen relative to the
expected return on long-term bonds, which has declined.

4. (a) More, because the bonds have become more liquid; (b) more, because their expected return has
risen relative to stocks; (c) less, because they have become less liquid relative to stocks; (d) less,
because their expected return has fallen; (e) more, because they have become more liquid.

5. The rise in the value of stocks would increase people’s wealth and therefore the demand for
Rembrandts would rise.

6. When the Fed sells bonds to the public, it increases the supply of bonds, thus shifting the supply
curve B'to the right. The result is that the intersection of the supply and demand curves B’ and B’
occurs at a lower price and a higher equilibrium interest rate, and the interest rate rises. With the
liquidity preference framework, the decrease in the money supply shifts the money supply curve M’
to the left, and the equilibrium interest rate rises. The answer from bond supply and demand analysis
is consistent with the answer from the liquidity preference framework.

7. In the loanable funds framework, when the economy booms, the demand for bonds increases. The
public’s income and wealth rises while the supply of bonds also increases, because firms have more
attractive investment opportunities. Both the supply and demand curves (B’ and B’) shift to the right,
but as is indicated in the text, the demand curve probably shifts less than the supply curve so the
equilibrium interest rate rises. Similarly, when the economy enters a recession, both the supply and
demand curves shift to the left, but the demand curve shifts less than the supply curve so that the
interest rate falls. The conclusion is that interest rates rise during booms and fall during recessions:
that is, interest rates are procyclical. The same answer is found with the liquidity preference framework.
When the economy booms, the demand for money increases; people need more money to carry out an
increased amount of transactions and also because their wealth has risen. The demand curve, M’, thus
shifts to the right, raising the equilibrium interest rate. When the economy enters a recession, the
demand for money falls and the demand curve shifts to the left, lowering the equilibrium interest rate.
Again, interest rates are seen to be procyclical.
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10.

11.

12.

13.

14.

15.

16.

17.

18.

When the price level rises, the quantity of money in real terms falls (holding the nominal supply of
money constant); to restore their holdings of money in real terms to their former level, people will
want to hold a greater nominal quantity of money. Thus the money demand curve M shifts to the
right, and the interest rate rises.

Interest rates fall. The increased volatility of gold prices makes bonds relatively less risky relative to
gold and causes the demand for bonds to increase. The demand curve, B, shifts to the right and the
equilibrium interest rate falls.

Interest rates would rise. A sudden increase in people’s expectations of future real estate prices raises
the expected return on real estate relative to bonds, so the demand for bonds falls. The demand curve
B’ shifts to the left, bond prices fall, and the equilibrium interest rate rises.

Interest rates might rise. The large federal deficits require the Treasury to issue more bonds; thus the
supply of bonds increases. The supply curve, B’, shifts to the right and the equilibrium interest rate
rises. Some economists believe that when the Treasury issues more bonds, the demand for bonds
increases because the issue of bonds increases the public’s wealth. In this case, the demand curve, B,
also shifts to the right, and it is no longer clear that the equilibrium interest rate will rise. Thus there
is some ambiguity in the answer to this question.

In the bond supply and demand analysis, the increased riskiness of bonds lowers the demand for
bonds. The demand curve B’ shifts to the left, and the equilibrium interest rate rises. The same answer
is found in the liquidity preference framework. The increased riskiness of bonds relative to money
increases the demand for money. The money demand curve M" shifts to the right, and the equilibrium
interest rate rises.

The price level effect has its maximum impact by the end of the first year, and since the price level
does not fall further, interest rates will not fall further as a result of a price level effect. On the other
hand, expected inflation returns to zero in the second year, so that the expected inflation effect returns
to zero. One factor producing lower interest rates thus disappears, so, in the second year, interest rates
may rise somewhat from their low point at the end of the second year.

Yes, interest rates will rise. The lower commission on stocks makes them more liquid than bonds, and
the demand for bonds will fall. The demand curve B’ will therefore shift to the left, and the equilibrium
interest rate will rise.

If the public believes the president’s program will be successful, interest rates will fall. The president’s
announcement will lower expected inflation so that the expected return on goods decreases relative to
bonds. The demand for bonds increases and the demand curve, B’, shifts to the right. For a given
nominal interest rate, the lower expected inflation means that the real interest rate has risen, raising
the cost of borrowing so that the supply of bonds falls. The resulting leftward shift of the supply
curve, B’, and the rightward shift of the demand curve, B, causes the equilibrium interest rate to fall.

The interest rate on the AT&T bonds will rise. Because people now expect interest rates to rise, the
expected return on long-term bonds such as the 8 1/8s of 2022 will fall, and the demand for these
bonds will decline. The demand curve B’ will therefore shift to the left, the price will fall, and the
equilibrium interest rate will rise.

Interest rates will rise. The expected increase in stock prices raises the expected return on stocks
relative to bonds and so the demand for bonds falls. The demand curve, B’, shifts to the left and the
equilibrium interest rate rises.
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19. Interest rates will rise. When bond prices become volatile and bonds become riskier, the demand for
bonds will fall. The demand curve B will shift to the left, the price will fall, and the equilibrium
interest rate will rise.

20. The slower rate of money growth will lead to a liquidity effect, which raises interest rates, while the
lower price level, income, and inflation rates in the future will tend to lower interest rates. There are
three possible scenarios for what will happen: (a) if the liquidity effect is larger than the other effects,
then interest rates will rise; (b) if the liquidity effect is smaller than the other effects and expected
inflation adjusts slowly, then interest rates will rise at first but will eventually fall below their initial
level; and (c) if the liquidity effect is smaller than the expected inflation effect and there is rapid
adjustment of expected inflation, then interest rates will immediately fall.
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Chapter 6

The Risk and Term Structure of Interest Rates

1. The bond with a C rating should have a higher interest rate because it has a higher default risk, which
reduces its demand and raises its interest rate relative to that on the Baa bond.

2. U.S Treasury bills have lower default risk and more liquidity than negotiable CDs. Consequently, the
demand for Treasury bills is higher, and they have a lower interest rate.

3. During business cycle booms, fewer corporations go bankrupt and there is less default risk on
corporate bonds, which lowers their risk premium. Similarly, during recessions, default risk on
corporate bonds increases and their risk premium increases. The risk premium on corporate bonds
is thus anticyclical, rising during recessions and falling during booms.

4. True. When bonds of different maturities are close substitutes, a rise in interest rates for one bond
causes the interest rates for others to rise because the expected returns on bonds of different maturities
cannot get too far out of line.

5. If yield curves on average were flat, this would suggest that the risk premium on long-term relative to
short-term bonds would equal zero and we would be more willing to accept the expectations hypothesis.

6. (a) The yield to maturity would be 5% for a one-year bond, 6% for a two-year bond, 6.22% for a
three-year bond, 6.5% for a four-year bond, and 6.6% for a five-year bond. (b) The yield to maturity
would be 5% for a one-year bond, 4.5% for a two-year bond. 4.33% for a three-year bond, 4.25% for
a four-year bond, and 4.2% for a five-year bond. The upward sloping yield curve in (a) would be
even steeper if people preferred short-term bonds over long-term bonds, because long-term bonds
would then have a positive liquidity premium. The downward-sloping yield curve in (b) would be
less steep and might have a slight positive upward slope if the long-term bonds have a positive
liquidity premium.

7. (a) The yield to maturity would be 5 percent for a one-year bond, 5.5 percent for a two-year bond,
6 percent for a three-year bond, 6 percent for a four-year bond, and 5.8 percent for a five-year
bond; (b) the yield to maturity would be 5 percent for a one-year bond, 4.5 percent for a two-year
bond, 4 percent for a three-year bond, 4 percent for a four-year bond, and 4.2 percent for a five-
year bond. The upward- and then downward-sloping yield curve in (a) would tend to be even more
upward sloping if people preferred short-term bonds over long-term bonds because long-term
bonds would then have a positive risk premium. The downward- and then upward-sloping yield
curve in (b) also would tend to be more upward sloping because of the positive risk premium for
long-term bonds.

8. The flat yield curve at shorter maturities suggests that short-term interest rates are expected to fall
moderately in the near future, while the steep upwards slope of the yield curve at longer maturities
indicates that interest rates further into the future are expected to rise. Because interest rates and
expected inflation move together, the yield curve suggests that the market expects inflation to fall
moderately in the near future but to rise later on.
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10.

11.

12.

13.

14.

15.

The steep upward-sloping yield curve at shorter maturities suggests that short-term interest rates are
expected to rise moderately in the near future because the initial, steep upward slope indicates that
the average of expected short-term interest rates in the near future are above the current short-term
interest rate. The downward slope for longer maturities indicates that short-term interest rates are
eventually expected to fall sharply. With a positive risk premium on long-term bonds, as in the
preferred habitat theory, a downward slope of the yield curve occurs only if the average of expected
short-term interest rates is declining, which occurs only if short-term interest rates far into the future
are falling. Since interest rates and expected inflation move together, the yield curve suggests that the
market expects inflation to rise moderately in the near future but fall later on.

The reduction in income tax rates would make the tax-exempt privilege for municipal bonds less
valuable, and they would be less desirable than taxable Treasury bonds. The resulting decline in the
demand for municipal bonds and increase in demand for Treasury bonds would raise interest rates on
municipal bonds while causing interest rates on Treasury bonds to fall.

The government guarantee will reduce the default risk on corporate bonds, making them more
desirable relative to Treasury securities. The increased demand for corporate bonds and decreased
demand for Treasury securities will lower interest rates on corporate bonds and raise them on
Treasury bonds.

Lower brokerage commissions for corporate bonds would make them more liquid and thus increase
their demand, which would lower their risk premium.

Abolishing the tax-exempt feature of municipal bonds would make them less desirable relative to
Treasury bonds. The resulting decline in the demand for municipal bonds and increase in demand for
Treasury bonds would raise the interest rates on municipal bonds, while the interest rates on Treasury
bonds would fall.

You would raise your predictions of future interest rates, because the higher long-term rates imply
that the average of the expected future short-term rates is higher.

The slope of the yield curve would fall because the drop in expected future short rates means that the
average of expected future short rates falls so that the long rate falls.
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Chapter 7
The Stock Market, the Theory of Rational Expectations,
and the Efficient Market Hypothesis

1. The value of any investment is found by computing the value today of all cash flows the investment
will generate over its life.

2. There are two cash flows from stock, periodic dividends and a future sales price. Dividends are
frequently changed when firm earnings either rise or fall. The future sales price is also difficult to
estimate, because it depends on the dividends that will be paid at some date even further in the future.
Bond cash flows also consist of two parts, periodic interest payments and a final maturity payment.
These payments are established in writing at the time the bonds are issued and cannot be changed
without the firm defaulting and being subject to bankruptcy. Stock prices tend to be more volatile,
because their cash flows are more subject to change.

3. $1/(1 +0.15) +$20/(1 + 0.15) = $18.26

4. P, =%$3x(1.07)/0.18 —0.07 =$29.18

5. A stock market bubble can occur if market participants either believe that dividends will have rapid
growth or if they substantially lower the required return on their equity investments, thus lowering
the denominator in the Gordon model and thereby causing stock prices to climb. By raising interest
rates the central bank can cause the required rate of return on equity to rise, thereby keeping stock
prices from climbing as much. Also raising interest rates may help slow the expected growth rate of
the economy and hence of dividends, thus also keeping stock prices from climbing.

6. False. Expectations can be highly inaccurate and still be rational, because optimal forecasts are not
necessarily accurate: A forecast is optimal if it is the best possible even if the forecast errors are large.

7. Although Joe’s expectations are typically quite accurate, they could still be improved by his taking
account of a snowfall in his forecasts. Since his expectations could be improved, they are not optimal
and hence are not rational expectations.

8. No, because he could improve the accuracy of his forecasts by predicting that tomorrow’s interest
rates will be identical to today’s. His forecasts are therefore not optimal, and he does not have
rational expectations.

9. True, as an approximation. If large changes in a stock price could be predicted, then the optimal
forecast of the stock return would not equal the equilibrium return for that stock. In this case, there
would be unexploited profit opportunities in the market and expectations would not be rational. Very
small changes in stock prices could be predictable, however, and the optimal forecast of returns
would equal the equilibrium return. In this case, an unexploited profit opportunity would not exist.
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

No, you shouldn’t buy stocks, because the rise in the money supply is publicly available information
that will be already incorporated into stock prices. Hence you cannot expect to earn more than the
equilibrium return on stocks by acting on the money supply information.

The stock price will rise. Even though the company is suffering a loss, the price of the stock reflects
an even larger expected loss. When the loss is less than expected, efficient markets theory then
indicates that the stock price will rise.

No, because this is publicly available information and is already reflected in stock prices. The optimal
forecast of stock returns will equal the equilibrium return, so there is no benefit from selling your
stocks.

Probably not. Although your broker has done well in the past, efficient markets theory suggests that
she has probably been lucky. Unless you believe that your broker has better information than the rest
of the market, efficient markets theory indicates that you cannot expect the broker to beat the market
in the future.

No, if the person has no better information than the rest of the market. An expected price rise of 10%
over the next month implies over a 100% annual return on Google stock, which certainly exceeds its
equilibrium return. This would mean that there is an unexploited profit opportunity in the market,
which would have been eliminated in an efficient market. The only time that the person’s expectations
could be rational is if the person had information unavailable to the market that allowed him or her to
beat the market.

False. All that is required for the market to be efficient so that prices reflect information on the
monetary aggregates is that some market participants eliminate unexploited profit opportunities.
Not everyone in a market has to be knowledgeable for the market to be efficient.

False. The people with better information are exactly those who make the market more efficient by
eliminating unexploited profit opportunities. These people can profit from their better information.

Because inflation is less than expected, expectations of future short-term interest rates would be
lowered, and as we learned in Chapter 7, long-term interest rates would fall. The decline in long-term
interest rates implies that long-term bond prices would rise.

True, in principle. Foreign exchange rates are a random walk over a short interval such as a week,
because changes in the exchange rate are unpredictable; if a change were predictable, large unexploited
profit opportunities would exists in the foreign exchange market. If the foreign exchange market is
efficient, these unexploited profit opportunities cannot exist and so the foreign exchange rate will
approximately follow a random walk.

No, because this expected change in the value of the dollar would imply that there is a huge
unexploited profit opportunity (over a 100% expected return at an annual rate). Since rational
expectations rules out unexploited profit opportunities, such a big expected change in the exchange
rate could not exist.

False. Although human fear may be the source of stock market crashes, that does not imply that there
are unexploited profit opportunities in the market. Nothing in rational expectations theory rules out
large changes in stock prices as a result of fears on the part of the investing public.
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Chapter 8

An Economic Analysis of Financial Structure

1. Financial intermediaries can take advantage of economies of scale and thus lower transactions costs.
For example, mutual funds take advantage of lower commissions because the scale of their purchases
is higher than for an individual, while banks’ large scale allows them to keep legal and computing
costs per transaction low. Economies of scale which help financial intermediaries lower transactions
costs explains why financial intermediaries exist and are so important to the economy.

2. Financial intermediaries develop expertise in such areas as computer technology so that they can
inexpensively provide liquidity services such as checking accounts that lower transactions costs for
depositors. Financial intermediaries can also take advantage of economies of scale and engage in
large transactions that have a lower cost per dollar of transaction.

3. No. If the lender knows as much about the borrower as the borrower does, then the lender is able
to screen out the good from the bad credit risks and so adverse selection will not be a problem.
Similarly, if the lender knows what the borrower is up to, then moral hazard will not be a problem
because the lender can easily stop the borrower from engaging in moral hazard.

4. Standard accounting principles make profit verification easier, thereby reducing adverse selection
and moral hazard problems in financial markets, hence making them operate better. Standard
accounting principles make it easier for investors to screen out good firms from bad firms, thereby
reducing the adverse selection problem in financial markets. In addition, they make it harder for
mangers to understate profits, thereby reducing the principal-agent (moral hazard) problem.

5. The lemons problem would be less severe for firms listed on the New York Stock Exchange because
they are typically larger corporations that are better known in the market place. Therefore it is easier
for investors to get information about them and figure out whether the firm is of good quality or is a
lemon. This makes the adverse selection—lemons problem less severe.

6. Smaller firms that are not well known are the most likely to use bank financing. Because it is harder
for investors to acquire information about these firms, it will be hard for the firms to sell securities in
the financial markets. Banks that specialize in collecting information about smaller firms will then be
the only outlet these firms have for financing their activities.

7. Because there is asymmetric information and the free-rider problem, not enough information is
available in financial markets. Thus there is a rationale for the government to encourage information
production through regulation so that it is easier to screen out good from bad borrowers, thereby
reducing the adverse selection problem. The government can also help reduce moral hazard and
improve the performance of financial markets by enforcing standard accounting principles and
prosecuting fraud.

8. Yes. The person who is putting her life savings into her business has more to lose if she takes on too
much risk or engages in personally beneficial activities that don’t lead to higher profits. So she will
act more in the interest of the lender, making it more likely that the loan will be paid off.
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Yes, this is an example of an adverse selection problem. Because a person is rich, the people who
are most likely to want to marry him or her are gold diggers. Rich people thus may want to be extra
careful to screen out those who are just interested in their money from those who want to marry

for love.

True. If the borrower turns out to be a bad credit risk and goes broke, the lender loses less, because
the collateral can be sold to make up any losses on the loan. Thus adverse selection is not as severe a
problem.

The free-rider problem means that private producers of information will not obtain the full benefit of
their information-producing activities, and so less information will be produced. This means that
there will be less information collected to screen out good from bad risks, making adverse selection
problems worse, and that there will be less monitoring of borrowers, increasing the moral hazard
problem.

The separation of ownership and control creates a principal-agent problem. The mangers (the agents)
do not have as strong an incentive to maximize profits as the owners (the principals). Thus the
managers might not work hard, might engage in wasteful spending on personal perks, or might
pursue business strategies that enhance their personal power but do not increase profits.

Because one information resource can be used in providing the several services, thus lowering the
cost for each.

Conlflicts of interest arise because higher profits might arise in providing one kind of service if the
provider misuses information, provides false information, or conceals information when providing
another kind of service.

Conflicts of interest lead to a substantial reduction in the quality of information so that asymmetric
information problems become worse, which prevents financial markets from channeling funds into
productive investment opportunities. The result is that financial markets become less efficient.

(1) Research analysts in investment banks might distort their research to please issuers of securities
so underwriters in the investment bank can get their business. (2) Investment banks might engage in
spinning, a form of kickback in which they allocate hot, but underpriced IPOs to executives in return
for their companies’ future business.

Spinning makes financial markets less efficient because it might influence executives not to use the
lowest-cost investment bank when issuing securities. The result would be a higher cost of capital and
hence lower efficiency.

(1) Clients may be able to pressure auditors into skewing their opinions in order to get fees for other
accounting services. (2) Auditors may be auditing information systems or structuring (tax and
financial) advice put in place by their non-audit counterparts within the firm, and thus may be
reluctant to criticize this advice or systems. (3) Auditors may provide overly favorable opinions in
order to solicit or retain business.



Part Three: Answers to End-of-Chapter Problems 71

19.

20.

Sarbanes-Oxley requires CEOs and CFOs to certify the financial statements and disclosures of the
firm and requires disclosure of off-balance sheet transactions and relationships with special purpose
entities. This mandatory disclosure improves the quality of information, but has the disadvantage of
being costly. Sarbanes-Oxley also substantially increases supervisory oversight with the PCAOB
which can help stop conflicts of interest in the accounting industry. Also by making the audit
committee independent of management, audits are likely to be more reliable, an important benefit.
However, Sarbanes-Oxley may reduce economies of scope available to accounting firms by preventing
them from providing auditing and consulting services to the same client.

The Global Settlement has increased disclosure of analysts’ recommendations, which also help
increase information in financial markets. Also, it requires increased disclosure of potential conflicts
of interest, which can help the market to constrain them. The Global Settlement bans spinning, which
might otherwise encourage executives to choose high-cost investment banks to underwrite their
securities: banning spinning makes it more likely that lower-cost and more efficient underwriting will
take place. The fines imposed by the Global Settlement also provide incentives for investment banks
to avoid exploiting conflicts of interest in the future. The negative side of the Global Settlement

is that it separates activities and so may mean that economies of scope in information production are
lost. The Global Settlement also requires that part of the $1.4 billion fine be used to fund independent
research, but it is not clear that quality of this research will be high.
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Chapter 9

Financial Crises and the Subprime Meltdown

1. When an asset-price bubble bursts and asset prices realign with fundamental economic values, the
resulting decline in net worth means that businesses have less skin in the game and so have incentives
to take on risk at the lender’s expense. In addition, lower net worth means there is less collateral and
so adverse selection increases. The bursting of an asset-price bubble therefore makes borrowers less
credit-worthy and causes a contraction in lending and spending. The asset price bust can also lead
to a deterioration in financial institutions’ balance sheets, which causes them to deleverage, further
contributing to the decline in lending and economic activity.

2. An unanticipated decline in the price level leads to firms real burden of indebtedness increasing while
there is no increase in the real value of their assets. The resulting decline in a firm’s net worth increases
adverse selection and moral hazard problems facing lenders, making it more likely a financial crisis
will occur in which financial markets do not work efficiently to get funds to firms with productive
investment opportunities.

3. With debt contracts denominated in foreign currency, when there is an unanticipated decline in the
value of the domestic currency, the debt burden of domestic firms increases. Since assets are typically
denominated in domestic currency, there is a resulting deterioration in firms’ balance sheets and a
decline in net worth, which then increases adverse selection and moral hazard problems. The increase
in asymmetric information problems leads to a decline in investment and economic activity.

4. A decline in real estate prices lowers the net worth of households or firms that are holding real estate
assets. The resulting decline in net worth means that businesses have less at risk and so have
incentives to take on risk at the lender’s expense. In addition, lower net worth means there is less
collateral and so adverse selection increases. The decline in real estate prices can thus make
borrowers less credit-worthy and cause a contraction in lending and spending. The real estate decline
can also lead to a deterioration in financial institutions’ balance sheets, which causes them to
deleverage, further contributing to the decline in lending and economic activity.

5. [If financial institutions suffer a deterioration in their balance sheets and they have a substantial
contraction in their capital, they will have fewer resources to lend, and lending will decline. The
contraction in lending then leads to a decline in investment spending, which slows economic activity.
When there are simultaneous failures of financial institutions, there is a loss of information production
in financial markets and a direct loss of banks’ financial intermediation. In addition, a decrease in
bank lending during a banking crisis decreases the supply of funds available to borrowers, which
leads to higher interest rates, which increases asymmetric information problems and leads to a further
contraction in lending and economic activity.

6. A failure of a major financial institution, which leads to a dramatic increase in uncertainty in financial
markets, makes it hard for lenders to screen good from bad credit risks. The resulting inability of
lenders to solve the adverse selection problem makes them less willing to lend, which leads to a
decline in lending, investment, and aggregate economic activity.
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As we saw in Chapter 8, individuals and firms with the riskiest investment projects are those who are
willing to pay the highest interest rates. If increased demand for credit or a decline in the money
supply market drives up interest rates sufficiently, good credit risks are less likely to want to borrow
while bad credit risks are still willing to borrow. Because of the resulting increase in adverse selection,
lenders will no longer want to make loans. The substantial decline in lending will lead to a substantial
decline in investment and aggregate economic activity. Increases in interest rates also play a role in
promoting a financial crisis through their effect on cash flow, the difference between cash receipts
and expenditure. A firm with sufficient cash flow can finance its projects internally, and there is no
asymmetric information because it knows how good its own projects are. An increase in interest
rates, and therefore in household and firm interest payments, decreases their cash flow. With less cash
flow, the firm has fewer internal funds and must raise funds from an external source, say, a bank,
which does not know the firm as well as its owners or managers. Because of this increased adverse
selection and moral hazard, the bank may choose not to lend even firms with good risks the money to
undertake potentially profitable investments. Thus when cash flow drops as a result of an increase in
interest rates, adverse selection and moral hazard problems become more severe, again curtailing
lending, investment, and economic activity.

Government fiscal imbalances may create fears of default on government debt. As a result, demand
from individual investors for the government bonds may fall, causing the government to force financial
institutions to purchase them. If the debt then declines in price, as will occur if a government default is
likely—financial institutions’ balance sheets will weaken and their lending will contract for the
reasons described earlier. Fears of default on the government debt can also spark a foreign exchange
crisis in which the value of the domestic currency falls sharply because investors pull their money out
of the country. The decline in the domestic currency’s value will then lead to the destruction of the
balance sheets of firms with large amounts of debt denominated in foreign currency. These balance
sheet problems lead to an increase in adverse selection and moral hazard problems, a decline in
lending, and a contraction of economic activity.

With restrictions lifted or new financial products, financial institutions often go on a lending spree
and expand their lending at a rapid pace. Unfortunately, the managers of these financial institutions
may not have the expertise to manage risk appropriately in these new lines of business, leading to
overly risky lending. In addition, regulation and government supervision may not keep up with the
new activities, further leading to excessive risk taking. When loans eventually go sour, this causes a
deterioration in financial institution balance sheets, a decrease in lending and therefore a decrease in
economic activity.

Weak regulation and supervision mean that financial institutions will take on excessive risk because
market discipline is weakened by the existence of a government safety net. When the risky loans
eventually go sour, this causes a deterioration in financial institution balance sheets, which then
means that these institutions cut back lending and economic activity declines.

Because they have debt that is long term, when the price level falls, it increases real indebtedness,
lowering net worth and increasing adverse selection and moral hazard problems. In emerging market
countries, debt is very short-term so that a decline in the price level does not raise real indebtedness
very much because the debt is repriced so frequently.

The use of data mining to give households numerical credit scores which can be used to predict
defaults and the use of computer technology to bundle together many small mortgage loans cheaply
and package them into securities. Together both enable the origination of subprime mortgages, which
then can be sold off as securities.
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Because the agent for the investor, the mortgage originator, has little incentive to make sure that the
mortgage is a good credit risk.

False. Financial engineering may create financial products that are so complex that it can be hard to
value the cash flows of the underlying assets for a security or to determine who actually owns these
assets. In other words, the increased complexity of structured products can actually destroy information,
thereby making asymmetric information worse in the financial system and increasing the severity of
adverse selection and moral hazard problems.

The decline in housing prices led to many subprime borrowers finding that their mortgages were
“underwater.” When this happened, struggling homeowners had tremendous incentives to walk away
from their homes and just send the keys back to the lender. Defaults on mortgages shot up sharply,
causing losses to financial institutions which then deleveraged, causing a collapse in lending.

Capital flows from abroad can fuel a credit boom and excessive risk taking. When the credit boom
bursts, there is a deterioration of financial institution balance sheets, which causes a contraction of
lending and economic activity.

Regulation and supervision end up being weak because powerful domestic business interests want it
that way so they can take more risk, allowing them to earn higher returns but pass off the losses to
the taxpayer if the loans go sour.

Because liability dollarization means that when there is a currency crisis and the currency collapses,
indebtedness in terms of domestic currency increases, leading to borrowers from banks not being able
to pay back loans. The resulting loan losses at banks cause them to fail, creating a banking crisis.
Hence a currency crisis and a banking crisis go hand in hand.

The central banks in most emerging market countries have little credibility as inflation fighters. Thus,
a sharp depreciation of the currency after a currency crisis leads to immediate upward pressure on
import prices. A dramatic rise in both actual and expected inflation will likely follow, and hence
interest rates will rise.

When the banking system is in trouble, the government and central bank are now between a rock and
a hard place: If they raise interest rates too much, they will destroy their already weakened banks, and
if they don’t, they can’t maintain the value of their currency. Once markets recognize this, they know
that the government can’t defend its currency so they have a one-way bet and pile on, selling the
currency, leading to a speculative attack and a currency crisis.
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Chapter 10

Banking and the Management
of Financial Institutions

1. Because if the bank borrows too frequently from the Fed, the Fed may restrict its ability to borrow in
the future.

2. The rank from most to least liquid is (c), (b), (a), (d).

3. The T-accounts for the two banks are as follows:

First National Bank
Assets ‘ Liabilities
Reserves -$50 ‘ Checkable Deposits -$50
Second National Bank
Assets Liabilities
Reserves +$50 | Checkable Deposits +3$50

4. Reserves drop by $500. The T-account for the first National Bank is as follows:

First National Bank
Assets | Liabilities

Reserves -$500 ‘ Checkable Deposits -$500

5. The $50 million deposit outflow means that reserves fall by $50 million to $25 million. Since required
reserves are $45 million (10 percent of the $450 million of deposits), your bank needs to acquire
$20 million of reserves. You could obtain these reserves by either calling in or selling off $20 million
of loans, by borrowing $20 million in discount loans from the Fed, by borrowing $20 million from
other banks or corporations, by selling $20 million of securities, or by some combination of all of
these.

6. The bank would rather have the balance sheet shown in this problem, because after it loses $50 million
due to deposit outflow, the bank would still have excess reserves of $5 million: $50 million in reserves
minus required reserves of $45 million (10% of the $450 million of deposits). Thus the bank would
not have to alter its balance sheet further and would not incur any costs as a result of the deposit
outflow. By contrast, with the balance sheet in Problem 5, the bank would have a shortfall of reserves
of $20 million ($25 million in reserves minus the required reserves of $45 million). In this case, the
bank will incur costs when it raises the necessary reserves through the methods described in the text.
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Because when a deposit outflow occurs, a bank is able to borrow reserves in these overnight loan
markets quickly; thus, it does not need to acquire reserves at a high cost by calling in or selling off
loans. The presence of overnight loan markets thus reduces the costs associated with deposit outflows,
so banks will hold fewer excess reserves.

No. When you turn a customer down, you may lose that customer’s business forever, which is
extremely costly. Instead, you might go out and borrow from other banks, corporations, or the Fed to
obtain funds so that you can make the customer loans. Alternatively, you might sell negotiable CDs
or some of your securities to acquire the necessary funds.

To lower capital and raise ROE holding its assets constant, it can pay out more dividends or buy back
some of its shares. Alternatively, it can keep its capital constant, but increase the amount of its assets
by acquiring new funds and then seeking out new loan business or purchasing more securities with
these new funds.

It can raise $1 million of capital by issuing new stock. It can cut its dividend payments by $1 million,
thereby increasing its retained earnings by $1 million. It can decrease the amount of its assets so that
the amount of its capital relative to its assets increases, thereby meeting the capital requirements.

In order for a banker to reduce adverse selection she must screen out good from bad credit risks by
learning all she can about potential borrowers. Similarly in order to minimize moral hazard, she must
continually monitor borrowers to ensure that they are complying with restrictive loan covenants.
Hence it pays for the banker to be nosy.

Compensating balances can act as collateral. They also help establish long-term customer relationships,
which make it easier for the bank to collect information about prospective borrowers, thus reducing
the adverse selection problem. Compensating balances help the bank monitor the activities of a
borrowing firm so that it can prevent the firm from taking on too much risk, thereby not acting in the
interest of the bank.

False. Although diversification is a desirable strategy for a bank, it may still make sense for a bank to
specialize in certain types of lending. For example, a bank may have developed expertise in screening
and monitoring a particular kind of loan, thus improving its ability to handle problems of adverse
selection and moral hazard.

The assets fall in value by $8 million (= $100 million X —2% X 4 years) while the liabilities fall in
value by $10.8 million (= $90 million X —2% X 6 years). Because the liabilities fall in value by

$2.8 million more than the assets do, the net worth of the bank rises by $2.8 million. The interest-
rate risk can be reduced by shortening the maturity of the liabilities to a duration of four years or
lengthening the maturity of the assets to a duration of six years. Alternatively, you could engage in an
interest-rate swap, in which you swap the interest earned on your assets with the interest on another
bank’s assets that have a duration of six years.

The gap is $10 million ($30 million of rate-sensitive assets minus $20 million of rate-sensitive
liabilities). The change in bank profits from the interest rate rise is + $0.5 million (5% x $10 million);
the interest rate risk can be reduced by increasing rate-sensitive liabilities to $30 million or by
reducing rate-sensitive assets to $20 million. Alternatively, you could engage in an interest rate swap
in which you swap the interest on $10 million of rate-sensitive assets for the interest on another
bank’s $10 million of fixed-rate assets.
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Chapter 11

Economic Analysis of Financial Regulation

2. There would be adverse selection, because people who might want to burn their property for some
personal gain would actively try to obtain substantial fire insurance policies. Moral hazard could also
be a problem, because a person with a fire insurance policy has less incentive to take measures to
prevent fire.

3. Chartering banks is the bank regulation that helps reduce the adverse selection problem because it
attempts to screen proposals for new banks to prevent risk-prone entrepreneurs and crooks from
controlling them. It will not always work because risk-prone entrepreneurs and crooks have
incentives to hide their true nature and thus may slip through the chartering process.

4. Regulations that restrict banks from holding risky assets directly decrease the moral hazard of risk
taking by the bank. Requirements that force banks to have a large amount of capital also decrease the
banks’ incentives for risk taking, because banks now have more to lose if they fail. Such regulations
will not completely eliminate the moral hazard problem, because bankers have incentives to hide
their holdings of risky assets from the regulators and to overstate the amount of their capital.

5. The benefits of a too-big-to-fail policy are that it makes bank panics less likely. The costs are that it
increases the incentives or moral hazard by big banks who know that depositors do not have incentives
to monitor the bank’s risk-taking activities. In addition, it is an unfair policy because it discriminates
against small banks.

6. The S&L crisis did not occur until the 1980s, because interest rates stayed low before then, so S&Ls
were not subjected to losses from high interest rates. Also, the opportunities for risk taking were not
available until the 1980s, when legislation and financial innovation made it easier for S&Ls to take
on more risk, thereby greatly increasing the adverse selection and moral hazard problem.

7. Regulatory forbearance is a dangerous strategy because once a bank is insolvent it has even stronger
incentives to commit moral hazard and take on excessive risk. It has little to lose if its risky activities
go sour, but has a lot to gain if the risky activities pay off. The resulting excessive risk-taking makes
it more likely that the deposit insurance agency will suffer large losses.

8. FIRREA provided funds for the S&L bailout, created the Resolution Trust Corporation to manage the
resolution of insolvent thrifts, eliminated the Federal Home Loan Bank Board and gave its regulatory
role to the Office of Thrift Supervision, eliminated the FSLIC and turned its insurance role and
regulatory responsibilities over to the FDIC, imposed restrictions on thrift activities similar to those
in effect before 1982, increased the capital requirements to those adhered to by commercial banks,
and increased the enforcement powers of thrift regulators.

9. The Bank Insurance Fund of the FDIC was recapitalized by allowing it to borrow more from the
Treasury and by raising insurance premiums. The bill reduced the scope of deposit insurance by
limiting brokered deposits and by limiting the too-big-to-fail doctrine by forcing the FDIC to use the
least-cost method of closing failed banks except under unusual circumstances. The bill has prompt
corrective action provisions that require the FDIC to intervene earlier with stronger actions when
banks move into one of the weaker of the five classifications based on bank capital. The limiting of
deposit insurance and prompt corrective action should reduce moral hazard risk-taking on the part
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of banks. The bill instructs the FDIC to come up with risk-based premiums which will increase the
premium cost when the banks take on more risk, thus helping to reduce the moral hazard problem.
The bill also mandates increased reporting requirements and annual examinations to prevent the
banks from taking on too much risk. It also enhances regulation of foreign banks in the U.S. to keep
them from operating in the U.S. if they are taking on too much risk.

If political candidates receive campaign funds from the government and are restricted in the amount
they spend, they will have less need to satisfy lobbyists to win elections. As a result, they may have
greater incentives to act in the interest of taxpayers (the principals), and so the political process might
improve.

The S&L crisis can be blamed on the principal-agent problem because politicians and regulators (the
agents) have not had the same incentives to minimize costs of deposit insurance as do the taxpayers
(the principals). As a result, politicians and regulators relaxed capital standards, removed restrictions
on holdings of risky assets, and engaged in regulatory forbearance, thereby increasing the cost of the
S&L bailout.

Eliminating or limiting the amount of deposit insurance would help reduce the moral hazard of
excessive risk taking on the part of banks. It would, however, make banks failures and panics more
likely, so it might not be a very good idea.

In general, yes. A national banking system will enable banks to diversify their loan portfolios better,
thus decreasing the likelihood of bank failures. In addition, it may make banks and hence the economy
more efficient and will help increase banks’ profitability which will make them healthier.

The economy would benefit from reduced moral hazard; that is, banks would not want to take on
too much risk, because doing so would increase their deposit insurance premiums. The problem is
however, that it is difficult to monitor the degree of risk in bank assets because often only the bank
making the loans knows how risky they are.

The FDIC must now close banks by the least costly method, thus making it far more likely that
uninsured depositors will suffer losses. As a result, depositors have a greater incentive to monitor big
banks and pull out their money if the bank is taking on too much risk. As a result, large banks will
have less incentives to take on risk, thereby making the banking system safer and sounder and
reducing the probability of future banking crises.
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Chapter 12

Banking Industry: Structure and Competition

10.

11.

Agricultural and other interests in the U.S. were quite suspicious of centralized power and thus
opposed the creation of a central bank.

(a) Office of the Comptroller of the Currency; (b) the Federal Reserve; (c) state banking authorities
and the FDIC; (d) the Federal Reserve

False. Although there are many more banks in the United States than in Canada, this does not mean
that the American banking system is more competitive. The reason for the large number of U.S.
banks is anticompetitive regulations such as restrictions on banking.

New technologies such as electronic banking facilities are frequently shared by several banks, so
these facilities are not classified as branches. Thus they can be used by banks to escape limitations on
offering services in other states and, in effect, to escape limitations from restrictions on branching.

Because becoming a bank holding company allows a bank to: (1) circumvent branching restrictions
since it can own a controlling interest in several banks even if branching is not permitted, and
(2) engage in other activities related to banking that can be highly profitable.

Because restrictions on branching are stricter for commercial banks than for savings and loans. Thus
small commercial banks have greater protection from competition and are more likely to survive than
small savings and loans.

Credit unions are small because they only have members who share a common employer or are
associated with a particular organization.

International banking has been encouraged by giving special tax treatment and relaxed branching
regulations to Edge Act corporations and to international banking facilities (IBFs); this was done to
make American banks more competitive with foreign banks. The hope is that it will create more
banking jobs in the United States.

IBFs encourage American and foreign banks to do more banking business in the United States, thus
shifting employment from Europe to the United States.

No, because the Saudi-owned bank is subject to the same regulations as the American-owned bank.
The facts that banks’ importance as a source of total credit advanced has shrunk, bank profitability as

measured by ROA and ROE has declined, and bank failures have been running at much higher rates
starting in the 1980s.
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The rise in inflation and the resulting higher interest rates on alternatives to checkable deposits
meant that banks had a big shrinkage in this low-cost way of raising funds. The innovation of money
market mutual funds also meant that the banks lost checking account business. The abolishment of
Regulation Q and the appearance of NOW accounts did help decrease disintermediation, but raised
the cost of funds for American banks, which now had to pay higher interest rates on checkable and
other deposits. Foreign banks were also able to tap a large pool of domestic savings, thereby lowering
their cost of funds relative to American banks.

True. Higher inflation helped raise interest rates which caused the disintermediation process to occur
and helped create money market mutual funds. As a result, banks lost cost advantages on the
liabilities side of their balance sheets, leading to a less healthy banking industry. However, improved
information technology would still have eroded the banks’ income advantages on the assets side of
their balance sheet, so the decline in the banking industry would still have occurred.

The growth of the commercial paper market and the development of the junk bond market meant
that corporations were now able to issue securities rather than borrow from banks, thus eroding the
competitive advantage of banks on the lending side. Securitization has enabled other financial
institutions to originate loans, again taking away some of the banks’ loan business.

Uncertain. The invention of the computer did help lower transaction costs and the costs of collecting
information, both of which have made other financial institutions more competitive with banks and
have allowed corporations to bypass banks and borrow directly from securities markets. Therefore,
computers were an important factor in the decline of the banking system. However, another source of
the decline in the banking industry was the loss of cost advantages for the banks in acquiring funds,
and this loss was due to factors unrelated to the invention of the computer, such as the rise in inflation
and its interaction with regulations which produced disintermediation.
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Chapter 13

Central Banks and the Federal Reserve System

1. Because of traditional American hostility to a central bank and centralized authority, the system of
12 regional banks was set up to diffuse power along regional lines.

2. The placement of two banks in the Midwest farm belt might have been engineered to placate farmers,
an important voting block in the early twentieth century.

3. Like the U.S. Constitution, the Federal Reserve System, originally established by the Federal Reserve
Act, has many checks and balances and is a peculiarly American institution. The ability of the twelve
regional banks to affect discount policy was viewed as a check on the centralized power of the Board
of Governors, just as states’ rights are a check on the centralized power of the federal government.
The provision that there be three types of directors (A, B, and C) representing different groups
(professional bankers, business people, and the public) was again intended to prevent any group from
dominating the Fed. The Fed’s independence from the federal government and the setting up of the
Federal Reserve banks as incorporated institutions were further intended to restrict government power
over the banking industry.

4. The Federal Reserve Banks influence the conduct of monetary policy through their administration of
the discount facilities at each bank and by having five of their presidents sit on the FOMC, the main
policymaking arm of the Fed.

5. The Board of Governors sets reserve requirements and the discount rate; the FOMC directs open
market operations. In practice however, the FOMC helps make decisions about reserve requirements
and the discount rate.

6. The 14-year terms do not completely insulate the governors from political influence. The governors
know that their bureaucratic power can be reined in by congressional legislation and so must still
curry favor with both Congress and the President. Moreover, in order to gain additional power to
regulate the financial system, the governors need the support of Congress and the President to pass
favorable legislation.

7. The structure of the European System of Central Banks (ECSB) is similar to that of the Federal
Reserve: the National Central Banks (NCBs) have a similar role to the Federal Reserve Banks and
the Executive Board is similar to the board of Governors. The Governing Council has a similar role
to the FOMC, and its voting members include the presidents of the NCBs and the Executive Board
members, just as the FOMC has as its voting members Federal Reserve Bank presidents and members
of the Board of Governors. There are some differences however. First, the budgets of the Federal
Reserve Banks are controlled by the Board of Governors, while the NCBs control their own budgets
and the budget of the ECB in Frankfurt. Second, the monetary operations of the Eurosystem are
conducted by the NCBs in each country, so monetary operations are not centralized as they are in the
Federal Reserve System. Third, in contrast to the Fed, the ECB is not involved in supervision and
regulation of financial institutions. The ECSB is more independent than the Fed because its charter
can only be changed by revision of the Maastricht Treaty, a very difficult process because all
signatories to the treaty must agree to accept any proposed change, while the Fed’s charter can be
changed by legislation which is much easier to do. On the other hand, the goal for the ECSB is more
clearly specified than it is for the Fed because the Maastricht Treaty states that the overriding long-run
goal of the ECSB is price stability, although it doesn’t specify exactly what “price stability” means.
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The Fed is more independent because its substantial revenue from securities and discount loans
allows it to control its own budget.

The threat that Congress will acquire greater control over the Fed’s finances and budget.

The theory of bureaucratic behavior indicates that the Fed will want to acquire as much power as
possible by requiring all banks to become members. Although the Fed did not succeed in obtaining
legislation requiring all banks to become members of the system, it was successful in getting
Congress to legislate extension of many of the regulations that were previously imposed solely on
member banks (for instance, reserve requirements) to all other depository institutions. Thus the Fed
was successful in extending its power.

False. Maximizing one’s welfare does not rule out altruism. Operating in the public interest is clearly
one objective of the Fed. The theory of bureaucratic behavior merely points out that other objectives,
such as maximizing power, also influence Fed decision making.

Eliminating the Fed’s independence might make it more shortsighted and subject to political
influence. Thus, when political gains could be achieved by expansionary policy before an election,
the Fed might be more likely to engage in this activity. As a result, more pronounced political
business cycles might result.

False. The Fed is still subject to political pressure, because Congress can pass legislation limiting the
Fed’s power. If the Fed is performing badly, Congress can make the Fed accountable by passing
legislation that the Fed does not like.

Uncertain. Although independence may help the Fed take the long view, because its personnel are not
directly affected by the outcome of the next election, the Fed can still be influenced by political
pressure. In addition, the lack of Fed accountability because of its independence may make the Fed
more irresponsible. Thus it is not absolutely clear that the Fed is more farsighted as a result of its
independence.

The argument for not releasing the FOMC directives immediately is that it keeps Congress off the
Fed’s back, thus enabling the Fed to pursue an independent monetary policy that is less subject to
inflation and political business cycles. The argument for releasing the directive immediately is that it
would make the Fed more accountable.
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Chapter 14
The Money Supply Process

Reserves and the monetary base fall by $2 million, as the following T-accounts indicate:

First National Bank
Assets ‘ Liabilities
Reserves —$2 million
Securities +$2 million

Federal Reserve System
Assets ‘ Liabilities

Securities —$2 million ‘ Reserves —$2 million

False. There would still be leakage into currency and excess reserves that would limit the increase in
deposit expansion. We can also see this in Equation (4) because the denominator will not equal zero

if r = 0; therefore, the money multiplier will not be infinite.

The money supply fell sharply because when c rose, there was a shift from one component of the
money supply (checkable deposits) with more multiple expansion to another (currency) with less.
Overall multiple deposit expansion fell, leading to a decline in the money supply.

None.

There is a shift from one component of the money supply (checkable deposits) with less multiple
expansion to another (traveler’s checks) with more multiple expansion. Multiple expansion therefore
increases, and the money supply increases.

The Fed sale of bonds to the First National Bank reduces reserves by $2 million; the T-accounts are
identical to those in the section titled “Multiple Deposit Contraction,” except that all the entries are
multiplied by 20,000 (that is, —=$100 becomes —$2 million). The net result is that checkable deposits
decline by $20 million.

Yes, because with no reserve requirements on time deposits, a shift from checkable deposits (with
less multiple expansion) to time deposits (with more multiple expansion) increases the total amount
of deposits and raises M2. However, if reserve requirements were equal for both types of deposits,
they would both undergo the same amount of multiple expansion, and a shift from one to the other
would have no effect on M2. Thus control of M2 would be better because random shifts from time
deposits to checkable deposits, or vice versa, would not affect M2.
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The total increase in checkable deposits is only $5 million, substantially less than the $10 million
that occurs when no excess reserves are held. The reason is that banks now end up holding 20 percent
of deposits as reserves and only lend out 80 percent, so that the increase in deposits found in the
T-accounts is $1,000,000 + $800,000 + $640,000 + $512,000 + $409,600 + . . . = $5 million.

Both the Fed’s purchase of $100 million of bonds (which raises the monetary base) and the lowering
of r (which increases the amount of multiple expansion and raises the money multiplier) lead to a rise
in the money supply.

The banking system is still not in equilibrium because there continues to be $100 million of excess
reserves (= $1 billion of reserves minus $900 million of required reserves, 10 percent of the $9 billion
of deposits). The excess reserves will be lent out until equilibrium is reached with an additional

$1 billion of checkable deposits. The T-account for the banking system when it is in equilibrium is

as follows:

Banking System
Assets | Liabilities

Reserves +$ 1 billion | Discount Loans +$ 1 billion
Loans +$10 billion | Checkable deposits +$10 billion

The Fed’s sale of $1 million of bonds shrinks the monetary base by $1 million, and the reduction of
borrowings from the Federal Reserve lowers the monetary base by another $1 million. The resulting
$2 million decline in the monetary base leads to a decline in the money supply.

$500 = $100/0.2, as the formula in Equation (1) indicates.

None. The reduction of $10 million in discount loans and increase of $10 million of bonds held by
the Fed leaves the level of reserves unchanged so that checkable deposits remain unchanged.

The deposit of $100 in the bank increases its reserves by $100. This starts the process of multiple
deposit expansion, leading to an increase in the money supply.

Uncertain. As the formula in Equation (4) indicates, if r + e is greater than 1, the money multiplier

can be less than 1. In practice, however, e is so small that r + e is less than 1 and the money multiplier
is greater than 1.

The money supply fell sharply because when c rose, there was a shift from one component of the
money supply (checkable deposits) with more multiple expansion to another (currency) with less.
Overall multiple deposit expansion fell, leading to a decline in the money supply.

The rise in banks’ holdings of excess reserves relative to checkable deposits meant that the banking
system in effect had fewer reserves to support checkable deposits. Thus the money multiplier fell,
and this led to a decline in the money supply.

Both the Fed’s purchase of $100 million of bonds (which raises the monetary base) and the lowering
of r (which increases the amount of multiple expansion and raises the money multiplier) lead to a rise
in the money supply.
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The Fed’s sale of $1 million of bonds shrinks the monetary base by $1 million, and the reduction of
borrowing from the Federal Reserve lowers the monetary base by another $1 million. The resulting
$2 million decline in the monetary base leads to a decline in the money supply.

The money supply falls. The rise in ¢ means that there has been a shift from deposits which undergo
multiple deposit expansion to currency which does not. Thus overall level of multiple expansion
declines, and the money multiplier and money supply fall.
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Tools of Monetary Policy

10.

The snowstorm would cause float to increase, which would increase the monetary base. To counteract
this effect, the manager will undertake a defensive open market sale.

When the public’s holding of currency increases, during Christmas, the currency—checkable deposits
ratio increases and the money supply falls. To counteract this decline in the money supply, the Fed
will conduct a defensive open market purchase.

As we saw in Chapter 13, when the Treasury’s deposits at the Fed fall, the monetary base increases.
To counteract this increase, the manager would undertake an open market sale.

Because the decrease in float is only temporary, the monetary base is expected to decline only
temporarily. A repurchase agreement only temporarily injects reserves into the banking system,
so it is a sensible way of counteracting the temporary decline in the monetary base due to the
decline in float.

It suggests that defensive open market operations are far more common than dynamic operations
because repurchase agreements are used primarily to conduct defensive operations to counteract
temporary changes in the monetary base.

False. The Fed also can affect the level of borrowed reserves by directly limiting the amount of
discount loans an individual bank can have.

A rise in checkable deposits leads to a rise in required reserves at any given interest rate, and thus
shifts the demand curve to the right. If the federal funds rate is initially below the discount rate, this
then leads to a rise in the federal funds rate. If the federal funds rate is initially at the discount rate,
then the federal funds rate will just remain at the discount rate.

The switch from deposits into currency lowers the amount of reserves as was shown in the T-accounts
of Chapter 15 and this lowers the supply of reserves at any given interest rate, thus shifting the supply
curve to the left. The fall in deposits also leads to lower required reserves and hence a shift in the
demand curve to the left. However, because the fall in required reserves is only a fraction of the fall
in the supply of reserves (because the required reserve ratio is much less than one), the supply curve
shifts left by more than the demand curve. Thus if the discount rate is initially above the fed funds
target, the fed funds rate will rise. However, if the fed funds rate is at the discount rate, then the fed
funds rate will remain at the discount rate.

This statement is incorrect. The FDIC would not be effective in eliminating bank panics without Fed
discounting to troubled banks to keep bank failures from spreading.

The costs are that banks that deserve to go out of business because of poor management may survive
because of Fed discounting to prevent panics. This might lead to an inefficient banking system with
many poorly run banks.
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Most likely not. If the federal funds rate target is initially below the discount rate and the decline in
the discount rate still leaves it above the federal funds target, then the shift in the supply curve has no
effect on the federal funds rate. Furthermore, the Fed usually moves the discount rate in line with
changes in the federal funds rate target, so that changes in the discount rate provide no additional
information about the direction of monetary policy.

When interest rates rise during a boom, if they rise above the discount rate, there will be borrowing
from the discount window and the level of borrowed reserves will increase. The result is a rise in the
monetary base and the money supply during a boom. Similarly, during a recession, if market interest
rates were above the discount rate, then when they fall, there will be less borrowing from the discount
window and the monetary base will fall, leading to a decline in the money supply. The procyclical
movement of the money supply would be undesirable because it would be expansionary when the
economy is booming and contractionary when the economy is going into recession.

False. As the analysis of the channel/corridor approach to setting interest rates demonstrates, central
banks can still tightly control interest rates by putting in place standing facilities where the difference
between the interest rate paid on reserves kept at the central bank and the interest rate charged in
central bank loans to banks is kept small.

One problem with this proposal is that it provides perfect control over the official measure of the
money supply, but it may weaken control over the measure of the money supply that is economically
relevant. An additional problem is that it will result in a costly restructuring of the financial system,
as banks are forced to get out of the loan business.

Open market operations are more flexible, reversible, and faster to implement than the other two
tools. Discount policy is more flexible, reversible, and faster to implement than changing reserve
requirements, but it is less effective than either of the other two tools.
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Chapter 16

The Conduct of Monetary Policy:
Strategy and Tactics

Disagree. Some unemployment is beneficial to the economy because the availability of vacant jobs
makes it more likely that a worker will find the right job and that the employer will find the right
worker for the job.

(a) The ten-year bond is an intermediate target because it is not directly affected by the tools of the
Fed, but is linked to economic activity. (b) The monetary base is an operating target because it can be
directly affected by the tools of the Fed and is only linked to economic activity through its effect on
the money supply. (c) M1 is an intermediate target because it is not directly affected by the tools of
the Fed and has some direct effect on economic activity.

True. In such a world, hitting a reserves target would mean that the Fed would also hit its interest-rate
target, or vice versa. Thus the Fed could pursue both a reserves target and an interest-rate target at the
same time.

An increase in the demand for reserves will raise the federal funds target. In order to prevent this, the
Fed will buy bonds, thereby increasing the amount of nonborrowed reserves, which shifts the supply
curve for reserves to the right, thereby keeping the fed funds rate from rising. The open market
purchase will then cause the monetary base and the money supply to rise.

The Fed can control the interest rate on federal funds by buying and selling bonds in the open market.
When the fed funds rate rises above the target level, the Fed would buy bonds, which would increase
nonborrowed reserves and lower the interest rate to its target level. Similarly, when the fed funds
rate falls below the target level, the Fed would sell bonds to raise the interest rate to the target level.
The resulting open market operations would of course affect the quantity of reserves and the money
supply and cause it to change. The Fed would be giving up control of reserves and the money supply
to pursue its interest-rate target.

The monetary base is more controllable than M1 because it is more directly influenced by the tools
of the Fed. It is measured more accurately and quickly than M1 because the Fed can calculate the
base from its own balance sheet data, while it constructs M1 numbers from surveys of banks,
which take some time to collect and are not always that accurate. Even though the base is a better
intermediate target on the grounds of measurability and controllability, it is not necessarily a better
intermediate target because its link to economic activity may be weaker than that between M1 and
economic activity.

Disagree. Although nominal interest rates are measured more accurately and more quickly than the
money supply, the interest-rate variable that is of more concern to policymakers is the real interest
rate. Because the measurement of real interest rates requires estimates of expected inflation, it is not
true that real interest rates are necessarily measured more accurately and more quickly than the
money supply. Interest-rate targets are therefore not necessarily better than money supply targets.
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A nominal anchor helps promote price stability by tying inflation expectations to low levels directly
through its constraint on the value of money. It can also limit the time-inconsistency problem by
providing an expected constraint on monetary policy.

Central bankers might think they can boost output or lower unemployment by pursuing overly
expansionary monetary policy even though in the long run this just leads to higher inflation and no
gains on the output or unemployment front. Alternatively, politicians may pressure the central bank
to pursue overly expansionary policies.

Monetary targeting has the advantage that it enables a central bank to adjust its monetary policy to
cope with domestic considerations. Furthermore, information on whether the central bank is
achieving its target is known almost immediately.

Monetary targeting only works well if there is a reliable relationship between the monetary aggregate
and inflation, a relationship that has often not held in different countries.

Inflation-targeting central banks engage in extensive public information campaigns that include the
distribution of glossy brochures, the publication of Inflation Report-type documents, making speeches
to the public, and continual communication with the elected government.

Sustained success in the conduct of monetary policy as measured against a pre-announced and
well-defined inflation target can be instrumental in building public support for a central bank’s
independence and for its policies. Also inflation targeting is consistent with democratic principles
because the central bank is more accountable.

Uncertain. If the relationship between monetary aggregates and the goal variable—say, inflation—is
unstable, then the signal provided by the monetary aggregates is not very useful and is not a good
indicator of whether the stance of monetary policy is correct.

False. Inflation targeting does not imply a sole focus on inflation. In practice, inflation targeters do
worry about output fluctuations, and inflation targeting may even be able to reduce output
fluctuations because it allows monetary policymakers to respond more aggressively to declines in
demand because they don’t have to worry that the resulting expansionary monetary policy will lead to
a sharp rise in inflation expectations.

False. There is no long-run trade-off between inflation and unemployment, so in the long run a
central bank with a dual mandate that attempts to promote maximum employment by pursuing
inflationary policies would have no more success at reducing unemployment than one whose
primary goal is price stability.

This strategy has the following advantages: (1) it enables monetary policy to focus on domestic
considerations; (2) it does not rely on a stable money-inflation relationship; and (3) it has had a
demonstrated success, producing low inflation with the longest business cycle expansion since
World War II. However, it has the following disadvantages: (1) it has a lack of transparency;
(2) it is strongly dependent on the preferences, skills, and trustworthiness of individuals in the
central bank and the government; and (3) it has some inconsistencies with democratic principles
because the central bank is not highly accountable.
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All allow a central bank to pursue an independent monetary policy that can focus on domestic
considerations.

Bank behavior can lead to procyclical money growth because when interest rates rise in a boom, they
decrease excess reserves and increase their borrowing from the Fed, both of which lead to a higher
money supply. Similarly, when interest rates fall in a recession, they increase excess reserves and
decrease their borrowing from the Fed, leading to a lower money supply. The result is that the money
supply will tend to grow faster in booms and slower in recessions—it is procyclical. Fed behavior
also can lead to procyclical money growth because (as the answer to problem 1 indicates) an interest-
rate target can lead to a slower rate of growth of the money supply during recessions and a more rapid
rate of growth during booms.
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Chapter 17
The Foreign Exchange Market

10.

You are more likely to drink California wine because the franc appreciation makes French wine
relatively more expensive than California wine.

False. Although a weak currency has the negative effect of making it more expensive to buy foreign
goods or to travel abroad, it may help domestic industry. Domestic goods become cheaper relative to
foreign goods, and the demand for domestically produced goods increases. The resulting higher sales
of domestic products may lead to higher employment, a beneficial effect on the economy.

It predicts that the value of the yen will fall 5% in terms of dollars.

In the long run, the fall in the demand for a country’s exports leads to a depreciation of its currency,
but the higher tariffs lead to an appreciation. Therefore, the effect on the exchange rate is uncertain.

Even though the Japanese price level rose relative to the American, the yen appreciated because the
increase in Japanese productivity relative to American productivity made it possible for the Japanese
to continue to sell their goods at a profit at a high value of the yen.

The dollar will appreciate. Because expected U.S. inflation falls as a result of the announcement,
there will be an expected appreciation of the dollar and so the the expected return on dollar assets
will rise. As a result, the demand curve will shift to the right and the equilibrium value of the
dollar will rise.

The pound depreciates but overshoots, declining by more in the short run than in the long run.
Consider Britain to be the domestic country. The rise in the money supply leads to a higher domestic
price level in the long run, which leads to a lower expected future exchange rate. In addition, the rise
in the money supply lowers the domestic interest rate on pound assets. Both of these changes lower
the expected return on pound assets at any given exchange rate, shifting the demand curve to the left.
The short-run outcome is a lower value of the pound. However, in the long run, the domestic interest
rate returns to its previous value, and the demand curve shifts back to the right somewhat. The
exchange rate rises to some extent, but still remains below its initial level.

The Indian rupee will appreciate. The announcement of tariffs will raise the expected future exchange
rate for the rupee and so increase the expected appreciation of the rupee. This means that the demand
for rupee denominated assets will increase, shifting the demand curve to the right, and the rupee
exchange rate therefore rises.

The dollar will depreciate. A rise in nominal interest rates but a decline in the real rate implies a rise
in expected inflation that produces an expected depreciation of the dollar that is larger than the
increase in the domestic interest rate. As a result, the expected return on dollar assets falls at any
exchange rate, shifting the demand curve to the left and leading to a fall in the exchange rate.
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The dollar will appreciate. The increase in U.S. productivity raises the expected future exchange rate
and thus raises the expected return on dollar assets at any exchange rate. The resulting rightward shift
of the demand curve leads to a rise in the equilibrium exchange rate.

The peso will depreciate. Consider Mexico to be the domestic country. An increased demand for
imports would lower the expected future exchange rate and result in a lower expected appreciation of
the peso. The resulting lower expected return on peso assets at any given exchange rate would then
shift the demand curve to the left, leading to a fall in the peso exchange rate.

The dollar will depreciate. The drop of expected inflation in Europe, which leads to a decline in the
foreign interest rate (which is smaller than the drop in expected inflation), leads to a rise in the real
return on foreign assets because the expected euro appreciation is greater than the decline in the
foreign interest rate. The result is a decline in the relative expected return on dollar assets, a leftward
shift of the demand curve, and the equilibrium U.S. exchange rate falls.

The contraction of the European money supply will increase European interest rates and raise the
future value of the euro, both of which will decrease the relative expected return on dollar assets.
The demand curve will then shift to the left, and the dollar will depreciate.

Consider Europe to be the domestic country. Because it is harder to get French goods, people will
buy more foreign goods and the value of the euro in the future will fall. The expected depreciation of
the euro lowers the expected return on dollar assets at any exchange rate, so the demand curve shifts
to the left, and the value of the euro will fall.
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Chapter 18

The International Financial System

1. The purchase of dollars involves a sale of foreign assets which means that international reserves fall.
However, the offsetting open market purchase means that the monetary base and the money supply
will remain unchanged. There is thus no change in the expected return on dollar assets, so the demand
curve does not shift, and the exchange rate also remains unchanged.

2. The purchase of dollars involves a sale of foreign assets, which means that international reserves fall
and the monetary base decreases. The resulting fall in the money supply causes interest rates to rise
and lowers the future price level, thereby raising the future expected exchange rate. Both of these
effects raise the expected return on dollar assets at any given exchange rate, shifting the demand
curve to the right and raising the equilibrium exchange rate.

3. (a) A receipt in the capital account; (b) a payment in the current account; (c) a negative change in
net international reserves; (d) a receipt in the current account; (e) a payment in the current account;
(f) a payment in the capital account; and (g) a receipt in the capital account.

4. Because other countries often intervene in the foreign exchange market when the United States has a
deficit so that U.S. holdings of international reserves do not change. By contrast, when the Netherlands
has a deficit, it must intervene in the foreign exchange market and buy euros, which results in a
reduction of international reserves for the Netherlands and Euroland.

5. The increase in British productivity would create a tendency for the pound to appreciate relative to
the dollar. The higher value of the pound would now cause Americans to exchange dollars for gold,
ship the gold to Britain, and then buy British pounds with the gold. The result is that British holdings
of gold (international reserves) would increase, which would raise the money supply because the
monetary base would increase. The higher British money supply would then tend to lower the exchange
rate back down to its par level because it would cause the price level to rise, which would lead to a
depreciation of the pound.

6. Two francs per dollar.

7. The situation would be as depicted in Figure 2, Panel (b). The central bank would need to sell
domestic currency and buy foreign assets, thus increasing its international reserves and the monetary
base. The resulting rise in the money supply would then lead to a decline in the domestic interest rate
which would shift R” in to the left so that the equilibrium exchange rate would be at par.

8. A large balance-of-payments surplus may require a country to finance the surplus by selling its
currency in the foreign exchange market, thereby gaining international reserves. The result is that the
central bank will have supplied more of its currency to the public, and the monetary base will rise.
The resulting rise in the money supply can cause the price level to rise, leading to a higher inflation rate.
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True, because when the exchange rate is falling, the central bank must buy its currency, which lowers
its holdings of international reserves and its monetary base. Similarly, when the exchange rate is
rising, it must sell its currency, which raises its holdings of international reserves and its monetary
base. The necessary central bank intervention to keep its exchange rate fixed thus affects the
monetary base and hence the money supply.

To finance the deficits, the central banks in these countries might intervene in the foreign exchange
market and buy domestic currency, thereby implementing a contractionary monetary policy. The
result is that they sell off international reserves and their monetary base falls, leading to a decline in
the money supply.

False. As seen in the chapter, a reserve currency country, such as the United States, can have its
balance of payments deficits financed by foreign central banks, leaving its international reserves
unchanged.

When other countries buy U.S. dollars to keep their exchange rates from changing vis-a-vis the dollar
because of the U.S. deficits, they gain international reserves and their monetary base increases. The
outcome is that the money supply in these countries grows faster and leads to higher inflation
throughout the world.

False. Inflation occurred when the world was under the gold standard before World War I. The gold
discoveries in the Klondike and South Africa before World War I led to a continuing increase in the
quantity of gold, which caused a more rapid growth in money supplies throughout the world. The
result was worldwide inflation.

There are no direct effects on the money supply, because there is no central bank intervention in a
pure flexible exchange rate regime; therefore, changes in international reserves that affect the
monetary base do not occur. However, monetary policy can be affected by the foreign exchange
market, because monetary authorities may want to manipulate exchange rates by changing the money
supply and interest rates.

Uncertain. Although after 1973, countries no longer must intervene in the foreign exchange market to
keep their currencies at a par level and so could pursue more independent monetary policy, they have
not chosen to do so; rather, they have continued to engage in substantial intervention in the foreign
exchange market. Thus they continue to have substantial fluctuations in international reserves, which
affect their money supply.

First, the exchange-rate target directly keeps inflation under control by tying the inflation rate for
internationally traded goods to that found in the anchor country to which its currency is pegged.
Second, it provides an automatic rule for the conduct of monetary policy that helps mitigate the time-
inconsistency problem. Third, it has the advantage of simplicity and clarity.

German reunification produced tight monetary policy in Germany which raised interest rates for the
other ERM countries because their currencies were pegged to the German mark. The high interest
rates then slowed economic growth and increased unemployment in the other countries.

With a pegged exchange rate, speculators are sometimes presented with a one-way bet in which the
only direction for a currency to go is down in value. In this case, selling the currency before the likely
depreciation gives speculators an attractive profit opportunity with potentially high expected returns.
As a result, they jump on board and attack the currency.
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Emerging market countries may not lose much by giving up the ability to pursue an independent
monetary policy because they are unable to do monetary policy well as a result of weak political or
monetary institutions.

The long-term bond market can help reduce the time-inconsistency problem because politicians and
central banks will realize that pursuing an overly expansionary policy will lead to an inflation scare in
which inflation expectations surge, interest rates rise, and there is a sharp fall in long-term bond
prices. Similarly, they will realize that overly expansionary monetary policy will result in a sharp fall
in the value of the currency. Avoiding these outcomes constrains policymakers and politicians so
time-inconsistent monetary policy is less likely to occur.

Exchange rate targeting is likely to be a sensible strategy for industrialized countries when domestic
monetary and political institutions are not conducive to good monetary policymaking, and when there
are other important benefits of an exchange rate target that have nothing to do with monetary policy.
Exchange rate targeting is likely to be sensible for emerging market countries whose political and
monetary institutions are weak so that it is the only way to break inflationary psychology and stabilize
the economy.

A currency board has the advantage that the central bank no longer can print money to create
inflation, and so it is a stronger commitment to a fixed exchange rate. The disadvantage is that it is
still subject to a speculative attack, which can lead to a sharp contraction of the money supply. In
addition, a currency board limits the ability of the central bank to play a lender-of-last-resort role.

Dollarization has the advantage that there is no possibility of a speculative attack. Dollarization has
the disadvantage that it results in the loss of seignorage, the revenue to the government from having
its own currency.
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Chapter 19
The Demand for Money
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Velocity is approximately 10 in 2004, 11 in 2005, and 12 in 2006. The rate of velocity growth is
approximately 10% per year.

Nominal GDP increases from $1 trillion to $1.5 trillion.
Nominal GDP declines by approximately 10%.

Velocity would fall because a greater quantity of the money supply (M) would be needed to carry out
the same level of transactions (PY); PY/M =V would then fall.

The price level quadruples.

The price level declines from 2 (=2,000/1,000) to 1.5 (=1,500/1,000).

The two largest declines are during the recession in 1920 and the Great Depression of 1929-1933.
These declines suggest that velocity is procyclical—that is, it rises in business cycle upturns and falls
in business cycle downturns. The data in Figure 1 indicate that it is not reasonable to assume that
declines in the quantity of money cause declines in aggregate spending because when aggregate
spending declines it could just reflect the fact that velocity declines at that time.

The demand for money will decrease. People would be more likely to expect interest rates to fall
and therefore more likely to expect bond prices to rise. The increase in the expected return on bonds
relative to money will then mean that people would demand less money.

Because it indicates that money demand and hence velocity is affected by interest rates, and since
interest rates fluctuate a lot, velocity will as well. Furthermore, as the answer to Problem 9 suggests,
changes in people’s expectations about what the normal level of interest rates are will cause money
demand and hence velocity to fluctuate. Keynes’s analysis of the speculative demand for money thus
suggests that velocity will be far from constant; rather, it will undergo substantial fluctuations.

Money balances should average one-half of Grant’s monthly income, because he would hold no
bonds, because holding them would entail additional brokerage costs but would not provide him with

any interest income.

Zero. Holding bonds does not lead to any brokerage costs, but they do pay interest. Thus bonds are
clearly preferred to cash, which pays no interest. Grant will hold only bonds, no cash.

True. Because bonds are riskier than money, risk-averse people would be likely to want to hold both.
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14. In Keynes’s view, a rise in interest rates leads to a lower relative expected return of money and hence

15.

a lower demand for money. In Friedman’s view, a rise in interest rates leads to an increase in the
implicit interest paid on checkable deposits, so the relative expected return of money only falls by
a small amount. Hence, in Friedman’s view, the demand for money changes little when interest
rates rise.

In Keynes’s view, velocity is unpredictable because interest rates, which have large fluctuations,
affect the demand for money and hence velocity. In addition, Keynes’s analysis suggests that if
people’s expectations of the normal level of interest rates change, the demand for money changes.
Keynes thought that these expectations moved unpredictably, meaning that money demand and
velocity are also unpredictable. Friedman sees the demand for money as stable, and because he also
believes that changes in interest rates have only small effects on the demand for money, his position
is that the demand for money, and hence velocity, is predictable.



98

Mishkin ¢ The Economics of Money, Banking, and Financial Markets, Ninth Edition

Chapter 20
The ISLM Model

10.

11.

When DI =0, C = 100; when DI =400, C = 460; when DI = 800, C = 820; when DI = 1,200,
C=1,180.

Companies cut production when their unplanned inventory investment is greater than zero, because
they are then producing more than they can sell. If they continue at current production, profits will
suffer because they are building up unwanted inventory, which is costly to store and finance.

(a) Equilibrium output of 1,200 occurs at the intersection of the 45E Y = Y line and the aggregate
demand function, Y = C + I =300 + 0.75Y. (b) The equilibrium level of output falls by 400 to 800.

The equilibrium level of output is 1,500. When planned investment spending falls by 100, the
equilibrium level of output falls by 500 to 1,000.

The multiplier in Problem 4 equals 5 [= 1/(I — mpc) = 1/(1 — 0.8) = 1/0.2] and in Problem 3 it equals 4
[=1/(1 -0.75) = 1/0.25]. The intuitive explanation for the higher multiplier in Problem 4 is that the
higher marginal propensity to consume in that case results in a greater rise in consumer expenditure
when there is an increase in planned investment spending that raises income. The greater rise in
consumer expenditure then leads to a higher quantity of output demanded (aggregate demand) and
hence to a higher level of equilibrium output.

Nothing. The $100 billion increase in planned investment spending is exactly offset by the
$100 billion decline in autonomous consumer expenditure, and autonomous spending and
aggregate output remain unchanged.

True. In both situations, autonomous spending rises by $50 billion, leading to the same increase in
aggregate output.

Equilibrium output of 2,000 occurs at the intersection of the 45 degree line ¥ = Y and the aggregate
demand function Y= C + I + G = 400 + 0.75Y. If government spending rises by 100, equilibrium
output will rise by 400 to 2,400.

$500 billion because the multiplier equals 2 [=1/(1 — mpc) = 1/(1 — 0.5) = 1/0.5].

Taxes should be reduced by $400 billion because the increase in output for a $7 decrease in taxes is
$T; that is, it equals the change in autonomous spending mpc X T times the multiplier 1/(1 — mpc) =
(mpc X T) [1/(1 —mpc)] =0.5T [1/(1 - 0.5)] =0.57/0.5=T.

Aggregate output falls by $300 billion. As a result of the reduction in taxes, consumer expenditure
increases by $150 billion (mpc X the change in taxes = 0.5 x 300), while government spending falls
by $300 billion, so the net change in autonomous spending is —$150 billion. Since the multiplier is

2 [=1/(1 —mpc) = 1/(I - 0.5) = 1/0.5], aggregate output changes by —$300 billion (= —150 x 2).



Part Three: Answers to End-of-Chapter Problems 99

12.

13.

14.

15.

Rise. The fall in autonomous spending from an increase in taxes is always less than the change in
taxes because the marginal propensity to consume is less than 1. By contrast, autonomous spending
rises one-for-one with a change in autonomous consumer expenditure. If taxes and autonomous
consumer expenditure rise by the same amount, autonomous spending must rise, and aggregate
output also rises.

Since as interest rates fall, planned investment spending doesn’t change, equilibrium output remains
unchanged. This means that the IS curve is vertical.

When aggregate output falls, the demand for money falls, shifting the money demand curve to the
left, which causes the equilibrium interest rate to fall. Because the equilibrium interest rate falls when
aggregate output falls, there is a positive association between aggregate output and the equilibrium
interest rate, and the LM curve slopes up.

False. Even if the economy is at a point off both the /S and LM curves, it will have a tendency to
move toward both of them. Only when it is at the intersection of both curves is there no tendency
for the interest rate and output to change, so this is where the economy comes to rest.
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Chapter 21
Monetary and Fiscal Policy in the ISLM Model

1. The IS curve shifts to the right. An equal rise in government spending and taxes leads to a rise in
autonomous spending because the resulting decrease in consumer expenditure is less than the
increase in government spending. The aggregate demand function rises in the Keynesian cross
diagram, and so aggregate output is higher at any given level of interest rates, leading to a rightward
shift of the IS curve.

2. When investment spending collapsed, the aggregate demand function in the Keynesian cross diagram
fell, leading to a lower level of equilibrium output for any given interest rate. The fall in equilibrium
output for any given interest rate implies that the IS curve shifted to the left.

3. The effect on the LM curve is uncertain. Since the demand for money falls at the same time that
the money supply is decreased, it is not clear whether, at a point on the original LM curve, there
will be an excess supply of money or an excess demand for money. Thus the LM curve might shift
to the right or the left.

4. False. It can also be eliminated by a fall in aggregate output, which lowers the demand for money and
brings it back into equality with the supply of money.

5. Aggregate output should have declined, while the effect on the interest rate is uncertain. The tax
increase would cause the IS curve to shift to the left, while the reduction in the money supply causes
the LM curve to shift to the left. Aggregate output at the intersection of the new IS and LM curves is
necessarily lower than at the old equilibrium, but the new equilibrium interest rate could either be
higher or lower, depending on which curve shifts more.

6. The ISLM model gives exactly this result. The tax cuts shifted the IS curve to the right, while tight
money shifted the LM curve to the left. The interest rate at the intersection of the new IS and
LM curves is necessarily higher than at the initial equilibrium, and aggregate output can be higher.

7. TItincreases the money supply so that the LM curve shifts out at the same time that the IS curve shifts
out because of the increase in military spending. Then the intersection of the new IS and LM curves
need not be at a higher interest rate.

8. Because it suggests that an interest-rate target is better than a money supply target. The reason is that
unstable money demand increases the volatility of the LM curve relative to the IS curve, which makes
it more likely that an interest-rate target is preferred to a money supply target.

9. False. As the price level rises, real money balances decline and the LM curve shifts to the left. The
outcome of a higher price level is thus a decline in equilibrium output.

10. The effect on the aggregate demand curve is uncertain. A rise in government spending would shift the
IS curve to the right, raising equilibrium output for a given price level. The reduction in the money
supply would shift the LM curve to the left, lowering equilibrium output for a given price level.
Depending on which of these two effects on equilibrium output is stronger, the aggregate demand
curve could shift either to the right or to the left.
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12.

13.

14.

15.

An equal rise in government spending and taxes raises autonomous spending and causes the IS curve
to shift to the right. As a result, equilibrium output rises at each given price level and the aggregate
demand curve shifts to the right.

No effect. The LM curve would be vertical in this case, meaning that a rise in government spending
and a rightward shift in the IS curve would not lead to higher aggregate output but rather just to a rise
in the interest rate. For any given price level, therefore, equilibrium output would remain the same,
and the aggregate demand curve would not shift.

Interest rates and output will fall (which is exactly what happened during the Great Depression). The
decline in autonomous consumer expenditure shifts the IS curve to the left, and the equilibrium level
of interest rates and output will fall.

The increase in net exports shifts the IS curve to the right, and the equilibrium level of interest rates
and aggregate output will rise.

Interest rates will rise and aggregate output will fall. The rise in the demand for money creates an
excess demand for money at each point on the initial LM curve. For any given interest rate, this
excess demand for money can be eliminated by a decline in output, so the new LM curve must be to
the left of the initial LM curve. The leftward shift of the LM curve leads to a higher level of the
equilibrium interest rate and a lower level of equilibrium output.
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Chapter 22
Aggregate Demand and Supply Analysis

1. From the equation of exchange aggregate spending, PY equals $2,000 billion (= MV =400 x 5). The
aggregate demand curve on the graph should show that, when P = 0.5, Y =4,000; when P = 1.0,
Y =2,000; and when P = 2.0, Y = 1,000. If the money supply falls to $50 billion, the aggregate
demand curve shifts to the left. You will see this on your graph because aggregate spending now
equals only $250 billion, and the new aggregate demand curve shows that, when P = 0.5, Y = 500;
when P = 1.0, Y=250; and when P =2.0, Y = 125.

2. Because the position of the aggregate demand curve is fixed if nominal income (P + Y) is fixed,
Friedman’s statement implies that the position of the aggregate demand curve is completely
determined by the quantity of money. This is built into the monetarist aggregate demand curve
because it shifts only when the money supply changes.

3. The effect on the aggregate demand curve is uncertain because increased government spending would
shift it to the right while the reduction in the money supply shifts it to the left.

4. The aggregate demand curve shifts because a change in “animal spirits” causes consumer expenditure
or planned investment spending to change, which then causes the quantity of aggregate output
demanded to change at any given price level.

5. The lower cost of foreign goods means that the costs of production fall in the United States, and
the short-run aggregate supply curve shifts outward. The strong dollar makes foreign goods more
competitive with U.S. goods so that net exports fall. The lower quantity of output demanded at each
price level implies that the aggregate demand curve shifts inward.

6. True. Given fixed production costs in the short run, firms can earn higher profits by producing more
when prices are higher. Profit-maximizing behavior on the part of firms thus leads them to increase
production when prices are higher.

7. The short-run aggregate supply curve will shift inward because wages and production costs rise, since
workers and firms expect prices to be higher.

8. The short-run aggregate supply curve would shift to the right because production costs would fall,
and the long-run aggregate supply curve would also shift to the right because productivity would be
higher.

9. Initially, unemployment is above the natural rate level, which causes wages to fall and the short-run
aggregate supply curve to shift outward. The economy will then slide down along the aggregate
demand curve, and the price level will fall until aggregate output has risen to the natural-rate level
and there is no further tendency for wages to fall.
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10.

11.

12.

13.

14.

15.

The collapse in investment spending during the Great Depression reduced the quantity of output

demanded at any given price level and shifted the aggregate demand curve to the left. In an aggregate
demand and supply diagram, the equilibrium price level and aggregate output would then fall, which
explains the decline in aggregate output and the price level that occurred during the Great Depression.

True. Monetarists believe that the economy returns quickly to its long-run position, in which
unemployment is at the natural rate level. Since they believe that the long run is not too far off in the
future, they do not support activist policy to eliminate unemployment. Keynesians, on the other hand,
believe that the economy returns only slowly to its long-run position. Their belief that the long run is
far off in the future prompts them to support activist policy to eliminate unemployment.

Both the increase in the money supply and the income tax cut will increase the quantity of output
demanded at any given price level and so will shift the aggregate demand curve to the right. The
intersection of the aggregate demand and short-run aggregate supply curve will be at a higher level of
both output and price level in the short run. However, in the long run, the short-run aggregate supply
curve will shift leftward, leaving output at the natural rate level, but the price level will be even
higher.

The price level will be lower than it otherwise would be and aggregate output will be higher. The
lower expected inflation will cause the short-run aggregate supply curve to shift up less than it
otherwise would, so that the intersection of the short-run aggregate supply curve with the aggregate
demand curve will be at a higher level of output and a lower price level.

Because goods would cost more, the national sales tax would raise production costs, and the short-run
aggregate supply curve would shift to the left. The intersection of the short-run aggregate supply
curve with the aggregate demand curve would then be at a higher level of prices and a lower level of
aggregate output; aggregate output would fall, and the price level would rise.

The improved American competitiveness would cause net exports to rise, leading to a rightward shift
of the aggregate demand curve, which would initially raise aggregate output and the price level
(increasing inflation). As described in Footnote 6 in the chapter, the decline in the dollar also would
have an effect on the short-run aggregate supply curve. The lower value of the dollar would make
foreign factors of production over inflation more expensive, which would raise U.S. production costs.
The resulting inward shift of the short-run aggregate supply curve would cause the price level to rise
further and would offset the expansionary effect on output from the rightward shift of the aggregate
demand curve. In the long run, however, aggregate output would return to its natural rate level and
the price level would stop rising so that the increase in inflation would be only temporary.
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Chapter 23

Transmission Mechanisms
of Monetary Policy: The Evidence

1. Method B produces structural-model evidence because it uses a model that explains the channels
through which jogging affects health; method A produces reduced-form evidence because it only
looks at the correlation of jogging and health.

2. Yes. Even though jogging doesn’t lower cholesterol and blood pressure, it might make the heart
muscle stronger and thus more able to withstand heart attacks. In this case, jogging would still be
good for your health.

3. Yes. If only healthy people like to jog, then the finding that joggers live longer than nonjoggers may
only be the result of reverse causation—namely, good health promotes jogging, rather than the other
way around.

4. Seeing which car is built better produces structural-model evidence, because it explains why one car
is better than the other (that is, how the car is built). Asking owners how often their cars undergo
repairs produces reduced-form evidence, because it looks only at the correlation of reliability with the
manufacturer of the car.

5. Not necessarily. If GM car owners change their oil more frequently than Ford owners, GM cars
would have better repair records, even though they are not more reliable cars. In this case, itis a
third factor, the frequency of oil changes, that leads to the better repair record for GM cars.

6. Not necessarily. Although the Ford engine might be built better than the GM engine, the rest of the
GM car might be better made than the Ford. The result could be that the GM car is more reliable than
the Ford.

7. We learned in Chapter 6 that interest rates tend to increase when aggregate output increases during a
boom and tend to fall when aggregate output falls during a recession. Thus, when output rises and
interest rates rise, banks would reduce the level of their excess reserves, leading to a rise in the money
supply. The outcome is that the rise in output might lead to a rise in the money supply; finding a
strong correlation between money and output might reflect causation running from output to money,
rather than from money to output.

8. If the Fed has interest-rate targets, a rise in output that raises interest rates might cause the Fed to buy
bonds and bid up their price so as to drive interest rates back down to their target level (see Chapter 5).
The result of these open market purchases would be that the increase in output would cause an
increase in the monetary base and hence an increase in the money supply. In addition, a rise in output
and interest rates would cause free reserves to fall (because excess reserves would fall and the volume
of discount loans would rise). If the Fed has a free reserves target, the increase in aggregate output
will then cause the Fed to increase the money supply because it believes the money is tight.
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10.

11.

12.

13.

14.

15.

Not necessarily. This timing evidence is suspect because researchers may have focused on the one
variable, the money growth rate, that suggests a relationship between money and the business cycle.
Furthermore, instead of interpreting the data to say that the money growth rate leads the business
cycle, it is also possible to interpret the data to say that the business cycle leads the money growth
rate. What makes this timing evidence more convincing is that some of the episodes in which money
growth slows appear to be exogenous events. The fact that recessions followed soon thereafter
provides more convincing evidence that there is a link between money and business cycles.

Monetarists went on to refine their reduced-form models with more sophisticated statistical procedures,
one outcome of which was the St. Louis model. Keynesians began to look for transmission mechanisms
of monetary policy that they may have ignored.

There are three main mechanisms through which the decline in stock prices could have reduced
aggregate demand and contributed to the severity of the recession. First, the decline in stock prices
lowered Tobin’s ¢ and might have reduced investment spending. Second, the decline in financial
wealth, as a result of the stock price decline, could have caused a drop in consumption because
consumers’ lifetime resources were reduced. Third, the decline in stock prices lowered the value of
financial assets, which increased the public’s probability of financial distress, and so they cut back on
their purchases of consumer durables and housing.

False. Monetary policy can affect stock prices, which affect Tobin’s ¢, thereby affecting investment
spending. In addition, monetary policy can affect loan availability, which may influence investment
spending.

Stock prices will rise. One story is that when the money supply rises, people will have more money
than they want to hold, so they buy stocks, bidding up their price. Another is that the rise in the
money supply lowers interest rates, so the yields on alternative assets to stocks fall. This makes
stocks more attractive, increases their demand, and hence raises their price.

There are three mechanisms involving consumer expenditure. First, a rise in the money supply lowers
interest rates and reduces the cost of financing purchases of consumer durables, and consumer
durable expenditure rises. Second, a rise in the money supply causes stock prices and wealth to rise,
leading to greater lifetime resources for consumers and causing them to increase their consumption.
Third, a rise to the money supply that causes stock prices and the value of financial assets to rise also
lowers people’s probability of financial distress, so they spend more on consumer durables.

Not necessarily. The statement that “money doesn’t matter at all” is untrue; however, it does not
logically follow that the reverse—“money is all that matters”—is true. Thus many economists accept
the monetarist evidence that money does matter but do not believe that money is all that matters.
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Chapter 24

Money and Inflation

1. The evidence in this quote does not cast doubt on the statement that inflation is a monetary
phenomenon, as long as inflation is thought of as a continuing increase in the price level—sustained
inflation. Then the fact that inflation is high one year when money growth is low is not inconsistent
with the statement that inflation is always and everywhere a monetary phenomenon.

2. Because hyperinflations appear to be examples in which the increase in money supply growth is an
exogenous event, the fact that hyperinflation occurs when money growth is higher is powerful
evidence that a high rate of money growth causes inflation.

3. False. Fiscal policy can produce rightward shifts in the aggregate demand curve, which lead to a one-
shot increase in the price level. However, fiscal policy cannot produce continuing rightward shifts in
the aggregate demand curve because there are limits to how high government spending can be raised
(it cannot go above 100 percent of GDP) and how much taxes can be cut (they cannot go below zero).
Therefore, since a continuing rightward shift of the aggregate demand curve is required in order for
inflation to occur (a continuing increase in the price level), fiscal policy cannot be the source of the
inflation.

4. False. Although workers’ attempts to push up their wages can lead to inflation if the government has
a high employment target, inflation is still a monetary phenomenon, because it cannot occur without
accommodating monetary policy.

5. False. Even though policymakers do not want inflation, if they pursue goals such as high employment
or choose to run high budget deficits, inflationary monetary policy and inflation can result through
the mechanisms in the chapter.

6. True. If financed with money creation, a temporary budget deficit can lead to a one-time rightward
shift in the aggregate demand curve and hence to a one-time increase in the price level. However,
once the budget deficit disappears, there is no longer any reason for the aggregate demand curve to
shift. Thus a temporary deficit cannot lead to a continuing rightward shift of the aggregate demand
curve and therefore cannot produce inflation, a continuing increase in the price level.

7. If there is a persistent budget deficit, the government’s sale of bonds might continually put pressure
on interest rates to rise. If the Fed wants to prevent the rise in interest rates, it buys bonds to bid up
their price and thereby lowers interest rates. The resulting increase in the monetary base leads to a
continuing increase in the money supply, which produces inflation.

8. True. The monetarist objection to activist policy would no longer be as serious. The aggregate
demand curve could be more quickly moved to AD, in Figure 11, and the economy would move more
quickly to Point 2 because the short-run aggregate supply curve would not have as much time to shift.
The scenario of a highly variable price level and output would not occur, making an activist policy
more desirable.
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False. With a more sluggish wage and price adjustment, it is more likely that the short-run aggregate
supply curve would remain at AS, in Figure 11 when the aggregate demand curve is shifted out to
AD,. Thus the economy would go to Point 2 in Figure 11 and there would be less tendency for
movement from Point 1” to 2" before getting to Point 2. Thus it is less likely that output and the price
level would be highly variable.

True, if expectations about policy affect the wage-setting process. In this case, workers and firms are
more likely to push up wages and prices because they know that if they do so and unemployment
develops as a result, the government will pursue expansionary policies to eliminate the
unemployment. Therefore, the cost of pushing up wages and prices is lower, and workers and firms
will be more likely to do it.

For two reasons. First, policymakers may choose too high an employment target and thus produce the
demand-pull inflation depicted in Figure 7. Second, the high employment policy is more likely to
produce a cost-push inflation, as the answer to Problem 8 indicates.

True. If expectations about policy have no effect on the short-run aggregate supply curve, a cost-push
inflation is less likely to develop when policymakers pursue an activist accommodating policy.
Furthermore, if expectations about policy do not matter, pursuing a nonaccommodating, nonactivist
policy does not have the hidden benefit of making it less likely that workers will push up their wages
and create unemployment. The case for an activist policy is therefore stronger.

Not necessarily, because an activist policy to eliminate unemployment is likely to lead to the
demand-pull and cost-push inflations depicted in Figure 6 and Figure 7. In addition, the activist
policy might lead to a higher probability that workers will push up their wages, which results in
episodes of high unemployment.

The Fed’s big stick is the ability to let unemployment develop as a result of a wage push by not trying
to eliminate unemployment with expansionary monetary policy. The statement proposes that the Fed
should pursue a nonaccommodating policy because this will prevent cost-push inflation and make it
less likely that unemployment develops because of workers’ attempts to push up their wages.

Yes. If Bush let the hostage-taking influence the U.S. to be more accommodating to Sadaam Hussein,
then Iraq would be less likely to get out of Kuwait. Not only would this make it less likely that U.S.
policy would be successful, but it would also make it more likely that American hostages would be
taken in the future.
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Chapter 25

Rational Expectations:
Implications for Policy

1. Long-term interest rates will fall. Theories of the term structure suggest that long-term interest rates
are related to the expected average of future short-term interest rates. When the public expects the
Fed to raise short-term interest rates permanently, they raise their expectations of future short-term
rates and long rates are higher. Then, when the Fed does not go through with the expected policy of
raising short-term rates, the public will realize that their expectations were mistaken and will revise
their expectations of short-term rates downward. The result is that the Fed’s decision not to go
through with the policy change causes long-term interest rates to fall.

2. A tax cut that is expected to last for ten years will have a larger effect on consumer expenditure than
one that is expected to last only one year. The reason is that the longer the tax cut is expected to last,
the greater its effect on expected average income and consumer expenditure.

3. Inthe new classical model, the Fed chairman’s plan might work if the public believes his announcement.
When the public expects the 10 percent money growth rate and the Fed does implement this change,
suppose the aggregate demand and supply curves both move up by 10 percent per year and the
price level increases at a 10 percent rate. When the public lowers its expectations of money growth,
the short-run aggregate supply curve does not move up by the full 10 percent. Then, when the
aggregate demand curve is shifted up by the full 10 percent, the intersection of the aggregate demand
and supply curves is at a higher level of output and a lower rate of increase of the price level than
10 percent. Thus, if the chairman is believed, his plan will help to lower inflation and unemployment.
However, why should the public believe the chairman if they suspect that he might renege on his
promises? If he is not believed (a likely possibility, since the public will try to figure out if the
chairman plans to mislead them), then his plan will not work. In the traditional model, the chairman’s
announcement has no effect on the short-run aggregate supply curve. Thus, the outcome of his policy
will be the same, whether he tries to fool the public or not.

4. True, if the anti-inflation policy is credible. As shown in Figure 6, if anti-inflation policy is believed
(and hence expected), there is no output loss in the new classical model (the economy stays at Point 1
in Panel b), and there is a smaller output loss than would otherwise be the case in the new Keynesian
model (the economy goes to Point 2" rather than Point 2” in Panel c).

5. The similarities between the monetarist and new classical view of aggregate supply is that they both
assume that wages and prices are set flexible and that expectations about policy affect the position of
the short-run aggregate supply curve. The monetarist view of aggregate supply, however, does not
make the strong assumption that wages and prices are completely flexible with regard to expected
changes in the price level. As a result, some monetarists do not accept the policy ineffectiveness
proposition.
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Uncertain. It is true that policymakers can reduce unemployment by pursuing a more expansionary
policy than the public expects. However, the rational expectations assumption indicates that the
public will attempt to anticipate policymakers’ actions. Policymakers cannot be sure whether
expansionary policy will be more or less expansionary than the public expects and hence cannot use
policy to make a predictable impact on unemployment.

The principle that the forecast errors of expectation cannot be predictable, which implies that
unanticipated policy must be unpredictable. Since only unanticipated policy affects aggregate output
in the new classical model, stabilization policy can have no predictable effect on aggregate output.

True, because the Lucas critique indicates that the effect of policy on inflation and output depends on
the public’s expectations about the policy. The outcome of a particular policy is therefore less certain
in Lucas’s view than if expectations about it do not matter, and it is harder to design a beneficial
activist stabilization policy.

True, if expectations about policy affect the wage- and price-setting process. In models in which
expectations about policy are relevant (such as the new classical and new Keynesian models),
Figure 6 shows that a credible anti-inflation policy reduces inflation faster and at lower output
costs than an anti-inflation policy that is not believed (and hence expected) by the public.

Yes, if budget deficits are expected to lead to an inflationary monetary policy and expectations about
monetary policy affect the short-run aggregate supply curve. In this case, a large budget deficit would
cause the short-run aggregate supply curve to shift more to the left because expected inflation would

be higher. The result is that the increase in the price level (the inflation rate) would be higher.

In this situation, the aggregate demand curve shifts to the left. But because this shift is expected, the
short-run aggregate supply curve shifts out, so there is no change in aggregate output. The intersection
of the new aggregate demand and supply curves is at a lower price level but at the same level of
aggregate output.

In the new Keynesian model and the traditional model, both the price level and aggregate output
would fall. In the traditional model, the aggregate demand curve shifts to the left, but the short-run
aggregate supply curve is unaffected. The result is that both output and the price level fall. In the new
Keynesian model, because the leftward shift in the aggregate demand curve is expected, the short-run
aggregate supply curve shifts out; however, it shifts out by less than in the new classical model, so
aggregate output falls at the same time that price level falls.

The short-run aggregate supply curve would shift to the left less than the aggregate demand curve
shifts to the right; hence at their intersection, aggregate output would rise and the price level would be
higher than it would have been if money growth had been reduced to a rate of 2%.

Using the traditional model, the short-run aggregate supply curve would continue to shift leftward at
the same rate, and the smaller rightward shift of the aggregate demand curve, because money supply
growth has been reduced, would mean a smaller increase in the price level and a reduction of
aggregate output. In the new Keynesian model, the effect of this anti-inflation policy on aggregate
output is uncertain. The short-run aggregate supply curve would not shift leftward by as much as in
the traditional model, because the anti-inflation policy is expected, but it would shift to the left by
more than in the new classical model. Hence inflation falls, but aggregate output may rise or fall,
depending on whether the short-run aggregate supply curve shifts to the left more or less than the
aggregate demand curve shifts to the right.
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15. The traditional model does not allow for substantial shifts in the short-run aggregate supply curve
because of new events, so it would predict no change in inflation or output. In both the new classical
and new Keynesian models, the rise in expected inflation as a result of the election would shift the
short-run aggregate supply curve upward which would lead to a rise in inflation and a fall in output.
However, in the new classical model, the shift in the short-run aggregate supply curve would be
greater so the rise in inflation and fall in output would be larger than in the new Keynesian model.





